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Xl — ECONOMICS

UNIT 1 INTRODUCTION TO MICRO - ECONOMICS

MoaobpeL QUESTIONS

PART - A

MULTIFLE CHOICE QUESTIONS,

L

'Economics is a stady of mankind in the ardinary

business of kife' - Tt is the statement af
() Addein St b Lione] Robbins
(i Alred Marshall {dy Sammaslson

(BEQ |

[Ana. () Alfred Mavshall]

The basic problem studied in Economics is
{z) Unlimited wants

() Unlimited mezns

(] Searcdry

iy Strategy to meed all our wanis

(BEQ [orJels] ¢

|Ans. (¢} Scarcitvi

Micro Economics is concermed with
{2) The econcnry o a whole [ Fient Litd J60g)
(b [nfferent secters of an scomoomy

) The study of indivedual econoaue umts belaviour |

(dy The utersctions within the sitire acomwmry

[Ams, (] The study of individesl econemic :

ki Beliaviomr]

Which of the following is a micro economdes |

statement”

[BEQ) jernt, MOP-J6TS0 |

{a) The real downestic owtput mereased by 2.5 percent |

|zt vear

b Unemplovesnt was 98 percent of the labour |

fiorre losd s
() The prece of wheat determnanes its domand

() The genorsl price lovel messasad by 4 percent |

Last year

[Ams, (2] The price of wheat determines ity °

el |

Find the ndd one oot ;

[BEQ] fGovt. WP J0I8; First Mid-2008; QEI6IE |

o) "An Bequay o e nanere and e conses of the
Wealth of Natoons".

) "Pronciples of Econemacs"
() "Mabie and Signaficance of Ecomomme sciemee®

() "Cedens Panbas® [Aws by “Ceterds Pan s |

LI

i1.

Thee equilibrism price i the price at which
(a] Everytiung 15 sold
(b} Bayers spend ther money
() Oruanty densmpded ecueals quanbity supplied
() Exess devmand is zepa

[Ams, (r) CQoanbiy demanded eguals quaniiny

l.1|1;|l1||r||.!

Autlier of " An Tnguiry into e Naiurve and Canses
of Yvealth of Natdans™
(E) Alfred Marcholl
(] Liogel Bobbine

() Aufam Srnsth
(dp Paol A Samwelsen
[Ans. (b} Adlsm Soith|

"Ecomndiibs  cindies himan  beliaviour as oa
relatioslilp berween eids and scarce ineans
which have alternative mses™ is the defintion of
eonnmnics of

(31 Liosel Robluns
() Alfred Marchall

by Adam Smdth

[y Pand A Semuelson
[Ams (0} Linnel Rolihbins]
Wiem i the father of Econmmics?
(E) Max Muller

JEEQ) [HY 2015
(b} Adam Sroaih

() Eard Marx (dy Paol A Samuelson
{Ams, (b} Adsm Smith)

"Ecomombes 05 oo schemce” the basis of ilis

slalesmednl is JEEQ

(n) Felohon betoesn cmese and affect

(B} Use of dedectrve method and mductive metsod
for the formations of laas

(c] Expenments

{d} All of the above [ &ms. (d) Al of the abave|

Leility imeans

(8) Eqnilibrivem poant o which demsnd smd sopply
are eypieal

(b} Want - saiesfyug capacity of gosds and servaces

() Todal value of commedsty

{d} De=sare for goods md semaces

[Ams (b Wamt - satlsfving capacity of goods and
SeTvices|




12,

13,

14,

j Bi

16,

17.

A market is

(a) Omly & place o buy thangs

(b)) Cmly a place to sell things

() Oaby a place where prices adpst

(d) A system whepe persoms iy and sell goods
directly or indirectly
[Ans. {d) A svstem where persons buy and sell

gols divectly ar indivectly]

WWhich one of the following 15 mof a pont m the
Welfare Definition of Economics?

(a) Shdy of crdinary man
(b} Econonues does not focns on wealta alons
() Economcs 15 the stody of matenal welfare
(d) Economics denls with onbmted wanis and
hantitad fes
|Ans, () Econmmics
wants and Bmited means|

Crpowih definition takes inio accounl

(a} The problem of choice in the dymamic frame
work of Econonucs.

(b) The problem of unlindted means m relabon o
wants

(e} The production end distnbution of wealth
(dy The material welfare of human beings

{Ans, {a) The probiem of chadoe in the dynnmic
frame work of Econanics. )

deals  wath umlimated

Woinich theary is generally included under micro
eonmnimics”

() Prcs Themy b Income Thaory

) Employvment Theory (d) Trade Theory

[Ams, {a) Price Them]
have exchange value and thelr owoership
rights can be established and exchanged
ia) Goods (h) Services

(c) Mlarkets {d) Bevenuns
| Azis, (a) Gioods]

Tidennily the correct characteristics ol wriliny /BEH
(a) Itis equosalent to safinlness’

) Tt has moral significance

(e} Itas same as pleasare

(d) Ti depends upon sonsumer’s mental attimde

lAms, {d} It depend: upon consuner's meuial
attitule]

o e momR W W W R WM WM R MR MR M M WM MR M M W E G Em M MW M ER W W W WM M PN W W U MM MM RN MR MW TN M WM MM PR MW mm M W Em o Mm M m MW W WM M M PN MmN mw MM WM Mm oRm Pw oRm ommowmoEm e omm e

15,

19.

20.

Whao bas given scaccity definition of economic?
(r) Adam Smuth (b} Marshall
{c) Robbans {d} Robertson

[Ans. {c) Robbdns)

The process of reatoning from  particalar o
general Is [Firer Ml 3028

(a) Deductive method (b} Inductive method
() Positive sconomacs  (d) Nommagve 8conomies
[Acps. (e Induictive metlaod]

Total revenme 5 equal fo total oatpot sold
muttiplied by

(5] Price

() Marging revenoe

{b} Total cost
(d) Margnal cost

| A, (o) Price]

PART - B

AvsWER ITHE FoLLowmvec QUESTIONS I

O~5E OB TWo SEXTENCES.

21

A, (M

What is meant by Economics? TBEQ
The waord "Ecomomics' eomes from the snoient
mresk oikonomilos,

i) The term 'Economues’ means " Nanagement of

Bousehalds".

iiii} The ‘“Political Econoany' @5 renamed a5
APDOOTTILES

22, Define Micro econoimnics.

Awes. (1)

243.

Ana. (1)

Micro eoonomics 15 the shady of the cconome
actions of small grovp of mdmiaduals sy
househalds, firms, or indwstries.

It stwdies how business firms operate under
different market condittions and how the
combined actoms of buyers and  sellers
defermmome prices.

[y

YWhat are goeds?

In Economacs, the temm "goods’ and ‘services”

also imphes, unless specified otheraise

fiiy Goedsarealsocalled produects”, "commaodities’,
"Things" et

i} Goeds and services satisfes hnman wants.




24, Distinguish goods from services,

JREG [Flru M 08 QESGTE
Ans,
1 Crmod Serv
N, 3 oes
1 | Coods ae prodduced. | Servces aye perfonmed
2 | Goods ane tengeble and | Servces H‘t;‘ll.l_g_lb]-_i
bomogeneons m nahare mﬂ-h-lhm-_gmuuﬁ ]
nafLTe
3| Godg age pliyeieal SRTvaoas die mede ke
things and mvolves B PrOCERE
production
20, Mame any two vpes of urilie
Ans. (1] Tine [Fahiy TBEY [Féese Ml 2008 HE L8]
(iy Place Ualiby

26, Define Positive eropnamics
Ans (1 Positove science deals swith wiar it is.
(i Which mess snalyses a problem on (he basi
of facts and exanmmes its cmases

(i} For exammpde - af the tume of a pnce merease, 1ts
comses are analysed

237, Give the meaning of deductive method.
Ans. (§1  Deductive medbed means deriving conclusions
from general fruths,
(ifp 1f takes few general principles and spplies fem
b deaw couelusuoes.

(il It 13 alse called as anebytical (or) abstraci
miethad.

PART - C

Avswir THE Forrowme QUEsTIONS In
O ParaGcRAPH.

L8, Explain the scarcity definiticn of Ecopsmics and
amess g, TREG e MId-20087

Ans. Luoae] Boblens pubdshed a book “An Essay on the
Manm= and Sipnificence of Ecomomic Science® o
1932, According to lim, "Econonmes 15 a scienee
whuch stodies buman behaveenr as a celabionship
betwean emds mnd searce means whicls  have
elternative nses”

T EEFREERSEE R R RN ERERERNEYT R AR RT RPN ES R R ERE LR E SRR R TR REE R R R RSN PR EREER R

29,

24

Alajor fearares of Rablxins” defination ae :

ity Huamn beaings have ombmited nomber of

Winits.

(i) Humsm wants are unfmated bt supply 15 oot
safficient so it hecoma seavcity,

(Hf) The scarcity of o commmodity 1= to be conadered
onlly i relation to its demand,

() The scarce feans are cipsble of havag
altermative wses

Criticism

iy  Bobbms does nol make any  distinction
hehween goads copdnefive to hmman walfars

and poods that are o
[n fhe producton of nee and aleobole dook,
SCATTE FESTES are used

(i) Fobhoes' defimitren dossn't cover ihe theary aff
eeannmls growil and develipiment.

(i)

What are the crocial decisions involving "What i

produced*? FE200E

i Wihether to poodace mare foad of inore laxary
guds,

Whether to leve inore agriculinral goods or
industrial goods.

(il

(mi) Whether to use more resources m education
and health ar more in miktary services,

(v Whather to have morve consmaption goode ar
Investiment goads.

(v) Whether o spend more ou basic education or
lu'g,hﬂ eduration

Explnin different tvpes af econamdic activities,

JHY 2058

Ecomompe actvitzes age related do Pyoduction

Distnbutions Exchange and Consunption of ponds

and services

i Cowsmmphinn : T serves as the starting point

ol ecnnamic seriviiy.

Froduction : The primary sem of the sconomic
activity 15 the prodmction of geods and services
make thene svalable to comsnmmer

(i) Exchange : “"Himman activibies which are
perforned in exchange for moey”

(rv} Diistribmtion : Tha Fudu:-d wealth hoe fo be
distributed sy the coaperating Tactors.

(i}




A1. Elncidaie different features of services.
Auma, Four features of sernces ars,

a2

Ams.

43, DiEtinguish berwesn micro economics and macra

Ans,

i

L

(i)

i)

Tmtanaible ; Intanmble fhngs sre not physical

abjects bof exist o coanection to other thisgs
For Example : Brand Image, Goodwill etr

Hererogeneons - A single byps services yields

mulfiple experiences

Fuor I:h'ltl:l.'JiE' ! BeliESar B0

Tmzeparobie Dom thelr nakers @ Servses am

mextricably connected to their malkers.

For Example : Labour
Perishalde :

Services canmol be stored as

imveninries like psseis.

For Example : Cneket

Belatcly

TWhat are the important features of ntikity?

(i

Uity is geychiodogical

(i} Uility 5 nd equvodent fo usefidness
(i} Thaliby 15 persons] and relative

fivy M i the function of e avenssty of lumas want.

V) Umilsty canact be measired obpechvely,
(viy Ulkilrty has oo ethseal or meoral stpnficamee.

FOONTIE LS. IBEQ feve, NP 24018: Fiews Mid- 0781
on | Mers Ecomsmics | Maero Economics
It 15 that bramch of It ps that branch of
erooomecs which sconommics whach deale
deals with the with agpregates and
i ecomiam: decision averxges of te enlie
makmg of indisndaal | ecomemy. E g, agpregare
| eoooomec agents such | ouiput, oatonal moome,
| a8 the producer, the | apgregae civings aid
| PORISUHTET £40. uFvEsments, eic
I makoes =100 acoolar | Incakes s
simadl compenents of | consideration the
the whole ecovonry. | econcany of the covabry
¥ a whole
3 Indeals wik the It dieals warh general
process of price price-feve] i sy
defermiraton m ECONOTITY.
ez of individual
products and facioss
of prodncricn.

Arra

;:'__ Adicro Econombes Macro Econam s

4 It 5 knervn A poice It 13 alse kmowm Az the

5 It =5 concermed Wit If &5 concerned with
thi ophurdzatem ke aptmmezstien af e
goals of individual prowih process of the
ConsaieeTs Al NS ECO MY
prodasers,

34. Compare positive econoimics and mormative
P TS [BEQ]
ﬁ:. Poztive Ecopoamicy | Normative Ecenesmics

1 Posanve sfjence dizile
with “what ar i

MeIEMIVE SrEe
concomed wich ‘wisat
caghl to be'

It asabyses proklem
on tee hasis of St
and sxamines rix
canses

Here dhe comglussons amd
resules are ot based oa
facts, bot on different
comsderatons

X Posshnre srience
wonld be looked imip
why and how?

Mermoative scirnce o
would be reen whether
gorin] o Tl

PART

-D

Axswer Tue Forrowme QUESTIONS N
ABOUT A PAGE.

35, Compare and comtrast varieus defimitdons of

Ecoomics. FGove AP 2008, QE2008]
Ares. Marshell's Defnition ve. Fobbin's Definstion
Aarshall's Drefinition Robbin's Definition

*Eoononues i the shody “Ecomonmuc is the scence
af p1an in the ardinary which stadses knman
buine of Hfe "™ I Isebeay i e 3 velaticarsbap
examanes that part of tetween mulnple ends and
individnal and sacial searce means, which have
action. whach s ereest aliemative wies®

closely conmecied with the

attainaent and with the

uee of maatenal reqaisites

af wedl bing.

Sumilarities between Hobbins &  Marshall's

Defination.




36,

Ans,

Human Behaviour ;

i11 Both the definstions are concerned with hnman
Defvious

(iij Marshall's snd Bobban's
concenfrate on optumirshon

defimbon:  are

(i} According to Marshall, wealth 15 the basic

souree of maximasation of matenal welfare
Fobbuns 15 of the opion thaf maxiomze ous
safisfachion by scarce resommes

Differences between Aarshall's & Robbins

Diefimitinm,

Econmnic activity - Mmberial / Tonmadsrinl

il Marshall believes m oonly matennl activities
which promots materal welfare

iy Fobbing believes in both materinl mod irmmoterial
netivities o tackie the problem of climice

Social Sctence J Natural Science :

i Marshall economics & o social seience

(i) Roblans Economics s nsbisal sqence like
Physics, Chemistry ebe

Practical . Thesvencal

i) Marshall's defimiion i< practical o mahire.

(i) Robbins defimbion 15 theoretscal mn nabhare.

Vielbare ! Scarcity ;

i Marchall's defoution = based oo homean makeral
welfare

(i) Fobbing definitiom s based on scarcity

ToSQITes.

Explain varions divistens of Ecomomics.
TBEQ [Frese Mad- 205 &

Consumpivon, Progechon, Distobuiion, Exchange

are the main divisions of econoomes.

Compsmmpiion :

(i) Humanwants coinimg under consamption

i) It serves as the startmp point of economuc
activity

{iiiy Characteristics of buman womts based on the
behaviowr of the consumer, the diminizhing
uiility and copsumer surplus ave dealt with.

Proiluction

(i) It is the process of iransformation of inputs
into output.

(i} Tlos divisiom covers the role of the factors of

production

Exchange :

{ip Tt 15 concemed wath price determination 1n
different tmarket forms.

(i1 If covers trade and cominerce.
FEstritinian &

fiy The produced wealth has o be distnbuied
armong the co operating factors.

i} Ddistribuhen studies about the pricmg of factors
of production

, 7. Elaborate ihe nature and scope ol Economics.

.. Ans, (1) Natare of Econoimnies:

THY 2018

1.  ALxwexpresses o causal relation betwaen
e 0r more than twa phenomena.

2. Marsholl staes that the Economic laws are
statement of tendencies the laws fmnction
with cause and affect.

3. Ecoootme [aws are ol as precsie and
certain a5 the laws i the physieal sciences.

4,  Econote laws are nof inviolable

% The use of the assompiicn ‘ather things
rvemmaining the snmse’

6.  EBropooues makes il Economic laws
hvpathetical.

T, Laws i econoames are  mobe  eXact,
precise and accarate than the other social
SCIENESS

5. Some ecomomic lws ane simply irulbsans.

() The scape of the subject of Econnmics vefers

T am e sabject-matier of Econemies,

1. All Insmse sctoabes related to wealth
conshfute  the  subject-matter  aof
Ecomomics.

2. Producton, consumpiion and  capitsl
formation are callad the basic sconomsc
actrnties of an economy

Chstnbution &
Exchange

Production




a8,

Ans,

3. Thefow chuet gve the coope of econonmes
4, Economucs fornses on the behaviour and
milermchins  amody  econoimas  agents,
midrvidals and groups belonpng to an
A AL Sy sTEL

Human actvihes noé related do wealth
{noneconom: actrviiies) are nof treated m
Ecomomes. For example, playmng cncket
for pleasure, mother s chuld care

N

Explain hasic problems of the econnny with the
help of production pessibilitv carve,

JBEQ [First Mid-2028)
The problem of chowe befwesn relatively scares
comumndities due to linnted produchyve resourees can
b dllustrated with the help of a getanetric device is
ko s production possibulity caree

Assumpafinn

(i} The time penod does nob change.

(i} Techniques of prodoction are fimed.

(i) There 1z full employmnent in the sroponTy

{ivt Bessurces of produchion are fully employed

ivi The lsw of dinnoshmg refums operstes m
business

ivip Todmw ths corve we fake fhe help of produchon
possibility sebiadule, s chown bedow.

Production Passibility Schednle ;

Chamtity
Prodachen of foad Moo af Car
Fossthilities | productionin | Productien
toms

| il 15

i | L) 13

o1 200 10

I 300 15

W 4] g

W1 [ 500 i

Thus schedule supgedds that of all resoumes are
theowa in to the production of food, a maxmmm
of 500 tons of food can be prodoced, grven the
existing technolopy:

Dingramntic Represestarion of Prodoenion
I"'-r:':!.i_'l:li_lir_r Cunrve

- : ey
¥ Production Passdilites Curve

Mo, of Cars

R

| | 5y
] 100 2000 300 400 X
Fiood Producion

Explanariomn :

i) The quanity of food 15 shown on M-axs and
Mo of Cars cothe Y - sous.

(i} The different six production possibilities =re
bemg shown as pomt P P, P, PP, & P,

iy The production possibiity curve Pyio Py

fiv) The locus of powmts of te d&fferent possibilibies
af production of two comumodities whach a

firm ot an ecoomny can prodioce with the
help of given resources and the techaiques of

prosuction

(v} Pomts lymg m=de the cove like P, am
stanabie by the soceety but thess pomts

resourees production are mot fially eeploved.

ivi) Shft of Production Possshiity Carve the PRC
shifis upward or downward due o

s The change in the supply of productive
TESOUTCes

#  The change i the sinte of techoology

#» This owtward shoft of the PPC 15 the
featares of econonme growth.




UNIT 2 CONSUMPTION ANALYSIS

MobDEL QUESTIONS
PART - A

MuLTirLE CHOICE QUESTIONS

L.

Pick the odd ane ant  fREQ (Firet M 2008 FEMIE
(a) Lumnaes () Couforts
(o) HNecessomes (d} Aprcolfural poods

[ A%, (L) _-1|.g|'h"|dllll|'i|'l gnnrl:-.|
Choice is always constraimed or lmited by the
_of eur reseurces.
(a} Scarcity
() Desnand

(b} Supply
{d) Aowdance
[_-\n'-: i '-:rn|'ril:l.'|

The chief exponent of the cardinal utility approach

wns firent, MO MTE QFMTE
fa) 1R Hicks by RG.D. Allen
(e} Mlarshall [} Stigle

[Ams, (o) Marshall)
Alwrginn] wtilicy is measured by nsing the forinala

of [BEQY {Fisst Mid 2018]
(a) TU —TU_ (b} TUn—TLT,,
() TU, +TU (d} TU,—TU,

[Ans. in} TU - TU_,]

W hiem mmﬂml '.Illlil.'}' renches 7ern, The tolal
ugibity will be

(a) Mluuemig (b} Befaseimnm
(c) Zero (d} MNegative

[Ans (b} Maximum)
Crossen's first law is koown s

(a) Law of Equ-Marginal Uhlity
() Law of Dmumshing Margisal Uhlphy
(c) Eaw of Demand
(d) Law of Dimmshing refims
[Ams (b Law of Dimimdshing Marginal Utility]

The basis for the law of demand is related o
(a) Law of Dimumshing Margmal Uhlrby
(b) Law of Supply
(¢} Law of Equi-bargunal [Nality
{d) Gosen's Law
|Ans (np Law of Dimindsling AMarginal Tality]

.

L.

L1.

12.

14.

The comcept of Consumers surplus is assodiated

with [BEN
(a} Adnn Smath (b Marshall
(¢} Robhins (@) Ricarde

[Ans. (B Marshall]

Given potentinl price is Bs. 250 and the achaal
price i s 200 find e consmmer suplns.
fa) 375 by 175 [Fire M4 2008
fch 200 (dy 50
fAuns. (i) 50

Indifference curve approach is based on JOT2008]
ta) Oviinalbappooach
() Cardinal approach
) Subectve approach
(d) Psycholomeal approach

[Ams {a) Owrdinal approach]

of elasticity of demand was

[BEQ

The concept
introduced by

(n) Fergusoo
(cd Adnm Smath

() Keymes
(d) Marshall
[Ans. (dy Marshzll]

Increase in demand i cansed by
() IncTease m tnx FFResr M- 2008, QF- 2008
i) Higher subsady
(el IneTesse in mlerest mbe
(d} decline un population

|Ans. (1) ngllrl ‘\.IHI'“I_[H

The movement on oF along e given demand
CUIve S Hoown as .

G extession and contesctioh of dedmdd

() shufts o the deansnd

(C) [mrrease & decrease I demand

() all the above

[Ans. (a) extension
chapain |

amd condraclion of

In case of relatively more elastic demand the
shape of the curve is
(a) Horizontal

(el Stesper

(b) Vertical

(d) Flatter
|Ams. (d) Flarier]




16.

17.

1H.

19.

20.

5. A consmmer i in equilibrivm when marginal

nikities Trom fwo Seeds are
{a) Bimmum

(e) Ecqual

ib) Miaxinnum
(d] Increasing

[Ames, (c) Equal]
TuclifTer enee curve was Bt introduced by JEEQ
(a) Hicks (b} Allen
(e} Keynes (d) Edgeworth

lAns. (@) Edgewarth)

Elasticity of demnand in eqgual to one indicates
() Uhnitary Elastic Detmand
{b) Perfectly Elastic Demand
() Perfecfly Inelashe Demancd

(d) Relatrwely Elastic Demand
[Anms. {a) Unitary Elwstic Demand]

The locuas of the points which gives snme level of
satisTaction is assecinied with
(a) [ndiffsrence Curves  (h] Cardinal Anabysis

() Law of Demand (d)] Law of Supply
[Aans. (3] Indifference Curyves)

Ovdinal Utility can be measarved by
{a} Reamkmpg (b} Mumbermg

{e) Wording [d) Moae of thess
[Ans (0} Ranking)

The Indiflerence curve are TRE (Eresr Mid- 2008
{a) werhical (b} horzental

(o) positive sloped () negstively sloped
|_-'1.||~: i) mg:lirch ':IIhFItI'”

PART - B

Axswir Tee Forrowmwe Quesmioss I
OxNE OR TWo SENTENCES,

1.

Diefine utility FREQY JOT.2018)

Ans, (i} Utility, the sumple mesmng of ‘ofility s

wsefulness’.
(i1} In Ecomnonues whlity 15 the capacity of a
comndity to satisfy humnan wants,

22, Mention the classifications of wants,
Ans. Goods (or] wants zre brosdly classified mto three
categories. They are
WANTS
Mecessaries Comfarts Luxuries
23, Mame the basic approaches to  consmmer
bebaviomr.

Ans, The hasic approaches fo comsnmer behaviour are

24.

25.

Ans,

2 6.

Ans,

27.

]

AR

(i) Cardinal Approach
iy Ordinal Approach

What are the degrees of price elasticity of demamd?
Perfecily Elastic Demand (Ep = )

iy Pedecily Iuelashe Deuand (Ep = 0]

{iii} Relatvwely Elashe Demamd (Ep = 1)

vy Relatrvely Inelastic Demand (Ep < 1)

¥} Unitary Elasiic Demand (Ep = 1]}

State the menning of indifference curves.
JFResr Mg 2008
1 An mdifference curve 15 the locus of all
combinations of commndities from which the
consimes derves the same level of sanisfacton.
2, TIts also called “Iso- TUtility Curve™ or “Equal
Satisfaction Corve™.

Virite the formula of consumers surphas.
Consumer surplie = what a person 15 willing to pay

—what be acheally pay.

[OR)

Consumer's surplis = Polential price — Actel price
Mathematically,
Consumer's surplos = TL — (P = )
TU = Total Utility, P = Price and ) = Quuantity of the
Commaodity
What are Giffen goods? WhyT[EEQ] [Firse Mad 201 8]
The Giffen pood or mfener good 15 an excepiion
o the law of deimand.

iy A Giffen goods 15 typically an mifemor prodoct
that does not have easily available substitates.

it} The vnique chasacteristic that an mcresse in
price actually wocreases the guantity of the
good that is demandad




PART - C

ANsWER THE FolLowmse QUEsSTIONS IN
ONE PARAGRAPH.

25.
Ans. (i)

29,

Ans. (1)

Describe the feature of hnman wants,

Wants are Unbisnifed

(il Waats berome Halats

fiii} Wants are Sabable

Liv) Wants afe Allemative

vy Wants are Compefiive

(vi) Wants are Cogop lementary

ivii) Wants are Recumng

vk 'Wants vary with tume, place and person.
Menmian e velationship Defween inargina urility
amal botal weility, [BEQ] fFheu M- 2008; HE2078]
Total whbity refers to the swm of wiitity of all
units of a commadity consumed.

Marganal whility 15 the additvon made o e
fotal uhiliey by consuming one mode wal of a
commiediby,

wﬂ = -'I-Lr!. =TLTB'E

i)

]'te:lul:mu-i.hlp helivesii m:llj_'_l.r.'lal [T LT 4N
mmil fmial wtilify

Margmal wiiliry Total utihity |

Margamal |:|I:||.i1'_l.-_ﬂ:1:Lm.|='= Totz] undity sncreases |

ao

Ans, (i)

Marpmal utility Bezches | Tocal ity Reaches
S AR ETRHE

Ma-:g.inalwil.in' hecoames
orEabve

Total withty declmes

. Explain the comcept of comsamer's equilibrinm

with a diagram. JBEQY (Firut Mad- 2008

The comsumer reaches oqubbmmm at the
poant wWhere the buedger e 1 tangent on the
indifference carve,

Comsmner Equiibnum = MRS, =P /P,

T 15 the powt of equalibennn as bedeet hne AB
is tangrent o tlifferencs ourve IC, the uppes
misl

(it}

TR S RS NN BN BN S TR CHE T RN SN BN ER BN ER U RN RN NN BN BN Y WCCEr RN BN NN BN M T M RN R R NN BN R BN RN BN BN RN WS OEY BN PN RN SN BN N OET R BN fY BN BT NSNS N BN RN RN MM WSOOEN SN BT BN RN BN W CWROEN ER E

Ans,

32,

Ans.

Comsniner Equilibrinm

I,
I,
- 1C
1,
i A By
Coffee

' EiPlﬂ.'Hl the theary of " Concuine:'s E“t"[]ll]ﬂ i

[First 358 2018

Consimer  surplus was ongmally mbreduced by

classical ecomonusts and later modified by Jevons

and Fule Thgat, the French Engineer Ecopormst 1o

1844 But a mosi refined form of the concept of

Constiver Surplus was goven by Alfred Marshall.

Drefimifio -

Avpoddimg to Alfred Marshall "The exeess of o price

whiach a persen vrould be willing to pay atheng rather

than go withowt the thene, over that which be sctoally

does pay 15 the economie meapsure of this surplus

satisfection. This may be called as cotsumet's

sarphus.

AssinEiEns

(i) Urtility ean be mensured

(i) Margrinnl THikiny of money et comsiant

(liiy Taste, wwvane and chasactor of consumer does
not chanps.

Aleatilreineal

Coreameer's surplos = Polentsn] Pnce — Actual Prce

Condumer surphas = TU — (P = 1)

Distinguizh betwreen extension pud conirection of

demanil.

(i) The changes m the quantity demnnded for
a commodity due to the change i aks pnce

alome are called Extension and Coohrachon of
Demand”

In other words, buying more al a lwer
price and less at a ldgher price = kiown as
"Esctensiodt and Cogstraetion of Demmand”

{ii}




MR

Ams.

Amns.

What are the propertes of indifference curves?
IPF8

() Indifference curve mast iave negative slope.

(i} Imdifference curves are convex to the origin.

(iii) Inditference corve canmot intersect

iivy Induference curve do not toach the borizontal
or vertical axis,

Briefly explain

equilihmwm.

() The consmmer repches equlibrom o the
point whers the biedeet line is tangent on e
T liTre renee cirve,

(i} T 15 the pomt of eqgmbbrnum as odget ne AB
is tangent on indifference curve IC; the npper
mast

the concepd of consmmer's

(idf] IC which nnplies maximum possible fevel of
SarETmerion,

(ivy At equilibrmm point, the slope of IC refers to
MRS and the slope of BL refers to ratio of
price of X to price of ¥ ie Px /Py

iv) Therefore MRS, =P, /F,

PART - D

AvswER THE FoLLowme QUESTIONS IN
ApouT A PacE.

a5,

Ains .

Explain the law of demand and its exceprions.
Jieove. MOP-205E; Fire Mid. 2008; OF.2018; HY 218

Law of Demand !

The Law of Demand was first stated by Augnstin

Courned m 1838, Later 1f was rebined and elaborabed

by Alfred Maorshall

Drefimitioms

The Law of Demand says os “the quantity demanded

mereases with a fall m pnce and dumnishes with a

M52 10 pree’.

Assumphions :

(i The mncmne of the consiner remamns oot

(i Thetasta, habal and prefersnce of e consiEmer
rerain e waime

(it The price of other related poods showld not
chnnge

(iv} Mo snbstihde for the commedity

iv) Demand for the commodity mst be confimsous.

ivi) Mo change m the quality of the commodity

If there is changs w one of these above assumptions

the law will nod operate

Talsle 2.4 Demani Schediile

| Price | Quantity Demanded |
5 1 |
4 1
3 3 |
;A 4 |
1 g |
Wk
o
5 -
%]
g4
2
£t
?I—
! i i 1 i |D*
0 1 2 3 4 Sy

[nntity Demonded {m uniis)

Explateanian ;-

iy The law of demand explame the relabonship
between the price of a comomodity and the
quantity demanded of 1.

fliy Tis law states thet quantity demanded of a
comumodity expands wath fall m price and
contracts with nse in price

(iiiy The law of demnamd states that there 15 an wverse
relationshep between the price and the quanhity
demanded of a commodity

(v X aos represents the quantity demanded and ¥
aKis represents the price.

iv) DD s the demand curve, which hes negative
slope e, slope dosnwand from et to mght

Exceptivn to the law of demand ;

(iy  Mormally, the demand coree slopes dowmwards
from lefl to nghi. Bui there are some uoosual
demnnd curves do not obey the law amd reserve
DOCUTS,

fuy A fall in prace brings a condraction of demand
and 8 nse m prce bnngs an extension of
demand

(iii} Therefore the demand curve slopes wpwards
from left to mght

(ivy It s known s exceptional demand curve.

10




di.

Ans_

Elucidnte the lnw of diminishing morginal nfility

with diagram.

i1l HH. Cossen and Anstrisn Eeonornist wres the
first to fommlate this law in Economues m 1854

(i) Jevoms calbed fhus Iaw as "Gossen's first law of
consumgtion”

DieNiminian :-

MMarshall states the law as "the addishonal beneht

which a persom denves from 8 gven increass of hus

stock of & thmp, dinumshes with every weresse m

the stock that be already has™

Assuispilons ;-

(i) The margmal ohlty of mooey remams constant.

The eonswmer should be rational and his aom s

to attnin maxsmmmn sahsfaction with menemam

erpendinge

(iif) The umts of the commodity monst be reasonabls
LI 5LER

v} Uniform in character like wedght, quality, faste,
colour ehe.

vy Gonds must be made conbmoasky at a goven
penod of hine.

ivi} Mo change in the taste, habits, preferences,
Eashaois, incoste and charseter éte.

Explamation ;-

The lzar of Daminsching MMargins]l wtility states that

if & consnmer contimnes D CongEne more and more

nmts of te same commodity, os margmal ilicy

dmanyshes.

Mustratiomns :-

il Suppase & consner wants to consmmme T apples
ose after another.

(i) Theuiikiry froem e firet appls = 20,

(i) The second apple wall be bess than that of first
[say 15}, the third less than that of second (zay
10} and 5o on fnslly the wiility from the fifth
apple becomes zero.

(iv) TUtlsby from spith and seventh apple are negative
(or} disutality (or) dishiking.

vy This tesdency is called the "The law of
Dundneshong marganal Thaluby*

i

o mm o omm omm o omm o omm o ommommomm oM ohm o W ER MR MM WM M mm o W W M EN MM W N SR M W W M M M WM MM NN SR MM OESOES OW G M oMm MmN M M mm omm o N M R oA oM W M OWE OERCEN S oM oM W oMW M E oW W W W ow m o wm

a7.

Tahle 2.1
Number of Total Margimal
Apphe Uity Tidity
1 b ]
2 35 13 (35 =20)
A 45 10 (45 — 35}
4 51 Sah—45)
5 = 050500
i A5 =S85 —-50)
7 L] -10735-45)
L 3
= L]
4l
=
£ 10
=
20 B T
T
Tk
C
.
B [ R, Pt = | %
.MH_B
Here Lriliny KLl

Megmive Unliy

(vi) When marginal utidlity becomes zero, the total
phibity 15 maximomn and when marginal ufilaby
bacomes negative, the fobal uhlity domanrshes.

Explain the law of Equi - margina] atility
{BEQY [QT-2018
i1y The lawof difenishing reargnsl atilaey exdtended
and = called "Law of equi - marginal utibity”.
(i) T s also called 'Law of substitution” Taw
of comsmmers equilibrimn’, '"Gossen Second
Law' and Law of maximun satisfaction’,
DefipEtiom :
harshall defined as “If & person has 4 thing which
can put i severn] wses, be wall destnbuie 1 among
these nses m such n way thet 1t has the sane marrmsl
utility o all”
Assumplion :-
iin  The coasumer s rshons] so0 he wants fo gl
mEsarr satsfaetion.
(i) The ity 15 measurable

11




{iii) Money remmns constant.

{iv} The wncome of the consumer 15 given

{vh There is perfect competition i the market.

{vi} The prces of the copumoditics are prven.

{vii) The Law of dinuniching margmal ohliy
operates

Explanation -

() Consumet wadirs 10 speid his himted income o
Apple and Orange.

(i) He 15 za8d to be in eqmlibrnmm, only when hs
gels maxmmum sahsfacton with s hmated
FE ) il

Marginal Utility of Apple _
Price of Apple

Marginal Utility of (range

Price of Cirange =

(uix)

K

i MU, _ MU,
Py Pa

{iv) He wants o spend his entite icome op Apple
and Orange.

(v} The price of an Apple and Orange is Bs. 1 each

=K

Tahle
Apple Cranes
Unats of Total | Margmal | T Marginmal
EE:_T_uﬂn_:-_dmr'; mﬂ:rf'.r_ mitility ey uhiliry
1 25 15 30 30
2 43 20 41 1
3 Lok i _4_-51_ &
9 T8 ix (54} ]
5 4] R 58 +
6 L 4 61 3
LY LY
H .
o |’ o Eu
'E A Bl MNe
< | =
-] 5y B
& | -
o § » ]
n booa K N B, H ) X
Lol Apple Unitz of Oirnge

Amgun of Maney Spent

Diagram Explanation

ivi} If the consmmer wants to attamn meoonmen whilky
he should by & anifs of Apples and 5 unils of
Oamges

(Vi) X - axis represent ot of mooney spent and
Y - was represent Marginal Utilifies of Apple
il Orampe

38, What are the methods of measuring elasticity of

demand? (EEQ] [OF 2018
Ans. There are four methods of measuring price elasticity
of demand.
(i} The Percentage Merhod -
Ay P
Ly |EP=——=—
L AP O
(2} Thrs method 15 olse knvown as ratio
et

® Ep=2t4 —eun- percentage
AP chanpe m dernmd
AP = percentage  change
in price
{ii} Tolal Ouwtlay Metlod ;-

(1) Marshall sugresied that demmand s elasric
or imelastic 15 to examne the change m
ozl outlay of the consmmer

(21 Total Reverme = Price = {uantity

Y TR=P=(Q

Craamtify Tital .
Price o nded | owtlay Elasticity
Lig 3 450 } -
L |
125 4 500
}:=l
B0 5 500
} [ |
75 [ 450

(i Pobor (or) Geometrical Elasticity :-
{1} The pomt elasticsty of linear demand curve
15 shown by the ratio of the s=gments of the
line to the vight and left of the particular

provimi.

(21 The demaxd curve is a straight hine, i &
sard to be lmear.

{3} The demand for a commodity can be elashe
in ong price and i efastic i another

12




¥k
Lower sepment of the demand

Pomt alasficly = e bedow dhe gven point
|.||.'l|:-d s et of e d e
e ahoee The Fiven phin

_L
=

RSP

Lipper

"ll'k_-:lli" i

Prce

L
ap = ‘— L. = Lovaer -."-E‘;".II.IFI.'II

U = Lippest Se painseint

[FRT S pment

g-'l'! =]

u Cluanmity I W
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UNIT 3 PRODUCTION ANALYSIS

MobDEL QUESTIONS
PART - A

MurrirLe CHowE QUESTIONS.

The primary factors of production are :
{a) Labour and Orpamsation

(b1 Labour and Capiial

{¢) Land and Capital

(d] Land and Labowr [Ans (d) Land amd Labaur)

The man-made phyvsical goods used (o preduce
other goeds and services ave referred fo as

{BEQY

() Land bl Latoar
{e) Caputal (d) Organzation
[Aums, (€1 Capilal]
Formula for calculnting AF = [REQ (HE 2008
ATP ATP TP TF
il s == ==
() 7 (b) N () s {d) -
[Amns, rﬂj%

Which factor is called the changing agent of the
Society

(4} Labourer
() Oremnzer

() Land
(d) Capital
[Ans. {cy O1ganizer |

- =

R W

SR

-

Who sadd, that one of the key of an entreprenenr

is "uncertainty -bearing” IBEXH
() JB Clark (1) Schurmpeter
(e) Knight (d) Adam Smith

[Ans, (¢} Eniglat]

The functinnal relationship between "inputs" e o

"oputputs" is called as

{a) Consumgion Function
(b} Production Fanction
(e} Savings Function

()} Iovestment Fumchon
[Ans, (b) Production Functioo]

In a fivm 5 onifts as factors produce 24 units of
the product, When the number of Facto) inerenses
by one, the production ipcreases to 30 onifs
Caleulate the Average Produaer
() 30 by & (c) 5 {dy 24
[Aus. () 5]

1,

1.

L2,

13,

Thee sheort-pun producticn B sidied through
() The Laws of Rehemns o scale
(b} The Law of Vansble Proporiions
() Tso - quants
{d} Law of Demamsd
[Ans. (b} The Law of Variable Proporions|
The long-run production funcoon i3 explaned by
(a) Laar of Domand
(b} Law of Supply
{r] Rehoos to Scale
{d} Law of Vansble Proportions

[Ans, (c) Benrms o Scale]

An Iso - quant corve is alse knovwn as JBEQT
(a) Inelashc Supply Curee
(b} Inetastic Demand Conve
(] Exui Marginal Tiikity
(d} Equal Product Curve
[Ans. (d) Equal Prodact Corve]

Mention the sconmmies reaped from leside the
firm
(a) financial

() mansgenal

(b} techmucal
{d} all of the abowve
[, () adl ol thee abaye]

Cobb - Dionglas production fonction assmmnes
(8] Increasing retams fo scale
(b} Driminishing refums 1o seale
(c] Constant refums to scale
(dy All of the sbove
[Ans. (¢} Comnstant refurns fo scnle|

MName the refurns o scale when the ocutput
imcreases by maore tlan 5% for a 3% increase in
the fmpaats,
(1) Increpsing refrms (o seale
(b} Decreasing retums fo scale
() Constant refaris to scale
(A} All of the shove
[Ans. (a) Increasing returns o scnle]

14




143,

:r.:.l

15,

17.

15.

19.

A

Which of the following is not a characteristic of |
Lamal [EE(N fOT2018 1
() Tt hoated supply (b} IF 35 modnle
{c) Heterogensous (d) Gt of Manire

[Ans. (b} It is mobile]
akliriomal

Froduct obtiined  Trom Tactors. aof »

proelactiom is fermed a3
{a) Marpnal product
{t) Averape prioduc

(b) Total product

(d} Anmmal prodect
JAns, () Marginal prodoct]
Muodern economisis have propounded the law of
() Inreasing retems (b)) Decreasing rehoms

0l COnsStmE refEns [y Vanable proportions
[Ans {w) Iogremsling refmrng

Producer's equilibrium is achieved af the point

whine

i) Marginal mie of technical sibstitufion (METS)
15 greater thon the price rafio

b} METS is lesser than the price ratio

{c) METS and price rafio are equal to each other

{d} The slopes of Iso quant and Iso cost lines are
dafferant

[Amz. {c} METS aod price ratle are equal to
el other ]

The relafionship between the price of a conmumodity
and the supphy of commodity is
(b) Positvee
(dy Increase
[Ans. (b) Positive|

If average product is decreasing. then marginal
product MR 2055
(a) mmst be greater than average product

(b} st be less than average product

{c) must be mcreasmg

{d) both aand ¢
[Ams, () must be less than averags prodoct]

{2} Megative
(o) Zepo

A production fupction measures the relation
between L

() mput prices and oufpat prices
) ioput prices and the quantity of outpt
(o) the quantity of s and the quandty of cutpat
{d) the quantity of inputs and wput prices
[Ams, (C} Ehe  quantity of fwpaars
ILE ||I11‘_|' ol nu THELS |

nndl  the

PART -B

Axswer Tuae FoLprowrse Questions I
ONE OR Two SENTENCES.

21, Classify the factors of production.
Ans, Factors of Praduction
L3 3 F b
Land Uz anisatnon Capital Labanr
22, Define Labour.
Ans, According fo Marshall, labour represenis services

1
.Iq.ﬂﬂ.

25,

Ans.

26,

Ans,

. Define Marginal Product of a factoer.
Ans.

provided by the factor labour, which helps m
vielding an income to the cawner of the Liboar-powss

State the production fanctinn
Production fianetion refers to the relationship among:

unsts of the factors of production (npuis) and the
resuliant guanitity of a good produced {outpat).

[BEQY
iy BMlarpmal product s the addition or the mcrement
s to the total product when one more unt of
the wput 15 smployed

In other words, it 15 the rabio of the changs m
the total prodiuct to the change m the uis of the
mput

(i) MP=ATPs AN or MP, =TF, - TP,

(m)

What t= 1sn- eost line?

i} The o - cost Line 15 a0 important component m
analysmg producer's bebaviour

The iso-cost line dissirates all the possible
combinations of twe factors that can be used
ot griven costs and for 3 given producer’s budest
(ely It 15 otheraise ealled 3z "lso-Price lime" or

“Teg-income line” or "'Tso-expenditure line"
ar ""Total outlay curve®.

i)

What are conditbons for producer’s equilibwium?
OR8]

The mwo eondiions that are to be flfilled for the

nitnirnent of prodieeer equilibriem

M The Tso - cost hoe most be tangent bo rso - quand
curve.

iy At pomt of tangency, the Iso - guant curve
must be convex ta the origin or METS, . must
be decloong

15




27. Whar are the reasons for apward sloping supply | 31. Stafe and explain the elasticiny of supply. @m0

Curve? [HY.2018]
Ans. (1] The peice of the commoedity increases, the
quantty cupply of e commodity & alio
inCreases.
(i) Thus the supply curve bas & positive slope from
left to right
PART - C

Anvswir Tue Forrowmc Questions Ix
Oxe ParsGrRAPH.

25, What are the characteristics of land?
Ans. (1] Land1s a prumeary factor of production
() Land is 8 passove factor of produoction
iy Land 1s the free pift of nature,
iiv) Land has oo cost of production.
vy Land is fixed or inelastse in supply.
(Vi) Laned is permoment
(vl Land is iminovable
iviiiiLand 15 heterngeneoes as i differs m ferflsby
What are the fetors governing elasticity af
supply?
Ans. Factors govenung elasticity of supply are
(0 Mabure of the commohy
iy Cost of production
(iidy Techuscal condstion
{iv) Tene factor
30, What ave the funciions of Entreprensur T
Aps. (1) Inifianon
Am oogaimrer 15 fhe tnstator of the bosiness,
Tnnoeovation -
A suceessful  entrepremaur 35 adways  am
inmenater
(i ConrEimarion |

An orgamzer apphes a particalar combmation
of e factors of produchon

() Caontrol, Direction and Supervision ;
An oipaniser eoutrols so thal nothing prevents
the orpamisation from achisving it goal

(L] l-':.-i-:u-mh.l.ng and Uncprtadnm-le lelLﬂ_ L
Rasks may be mauned but imeertmmites cargant
be msured.

29

[BEQS

(i)

1
L]
]
L]
]
[ ]
1
1
]
]
]
]
]
]
1
1
1
L]
]
1
]
1
1
1
§
1
1
]
]
i
1
L]
[]
L]
[ ]
L]
]
1
[ ]
L]
[]
L]
]
[]
L]
]
]
L]
]
L]
[ ]
]
L]
L]
L]
L]
1
[]
]
]
L]
]
]
1
§
]
L]
i
L]
]
i
L]
L]
L]
i
]
]
1
]
L]

Ama. iib

Elasticaty of wsupply msy be defived as the

degree of responsiveness of change m supply
ty change in price on (he part of sallers

fid]

[p

1 ':!';. F o

i AP B B

] |'iFI Q5
(iif) Q = Quumntity, P=Price, A= Changes.

and Marginal Produocts
Ans, Belahomship among Totsl, Avernge and Marginal

A, Bring out the relatinonship nmong Tofal, Averape

foemt, MOP_I0IE

Products.
Total Marginal Average
e Froducd Fraosluct FProdact
Slape -1 | Insbrmdiy of Al the Ak the: first
mereases of | bepimng | mstant o
a8l CTeRsHEE | ICreases, IICTEASES
rale and then | then reaches | then attaing
InCreases A | 8 MAKEII | NS
g dacransimg | smed starts 1o
Fate. decreass.

Stape - [1 | I contmes | If contisnes | B s equal o
fopkcredse | fo dipumish | 3P and ten
ta ol becomey | baging fo
deminusheng | eqoal to diminish.
rate and Zero.
reaches
MAKEALTL

Stage -0 | I Tt beoomies | IF confinoes
dimamishes. | Depative. to difminich

Tt always
pEreater
tham zero
{poeative]),

A3, Muostrate the concept of Proaducer's Eguilibrinm

Aps. Introductien

iy  Producer equlibriom  aoplies the  sibuation
whers producer maxioipes Lis ourpoL

i) M as also kiowmn as oty combaniation of te

factoss of production

(1 Producer's attam equilibriom (or least cost

combanation of factors 15 attasned by the fion)

whers the 150-cost lme 15 fngent fo an 150

product curve.
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34,

Ana,

Frogucer's Equblibyinm

Vit ol capial

M x“\-‘_&\‘t
S,
xkn“ x Y500 Linta}
o M- § I Ay L X
Limitd of lubsin

tivi In the sbove figure, profit of the fimm (or
e prodiucer) = maxmmsed ol e pomt of
equilibrium E.

%) AL the poant of equibbrmo, the slope of the
150 cost boe 15 equal to the slope of 150 prodoct
curve

ivij [Slope of IS0 gquant corve = Slope of 180
cost curve

(vil) Atpomt E the firm envploys QM amits of laboar
and O umuts of captal

State the Cobb-Dougkns Production Function,
(BEQ [P 2008 BT 208

i} The Cobb - Dooglas prodwction  functon
was developed by charles W.Cobb and Faul
H. Damzlas.

i) The produchion fimchon explams thet wafly the
proportionste weresse o the fetors, the ontpit
also mereased n the same proporion

(hify It impdies constant refibms 1o scale

vy Cobb Douglas production fopetioa considered
omly two factors hike labour and cpaiial,

(v Labowr contribaates three-fmuth of productien
nnd capiinl contnbses one-fourth of production

(vip The elastety of sulstbubien betwesn (the
factors is equoal to one.

vt
where, ) = Cefpuf: A = Posttive constant;
E = Capital; L = Labour, o and B ome positive
fractioas showng, the elasticty coefficents of
ostpmat for the inpats.
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PART-D

ANSWER THE FOLLOWING QUESTIONS IN
ABOUT A PacE.

A5. Examine the Law of YVariable Proportions with
the help of dagram.

Anes, Drefinition
Accopdmg o G Steler, As equal merements of
ome gt e added, the inputs of other productive
services being beld constant, beyond a certain point
the resulting serement of p 5 Wil decrease,
ie the marpinal prodcts will dinemish
AsSIIpE ks
iy Cly ooe factor 15 vanable whale others are held

Copsiant.

(i) Adlumats of the vnrable factor are hommogensous.
i) The peoduct is measured in plysical wnits
{ivy Mo change n the state of technolegy.
(V) Mo change in the price

Unitsef | Total | Afargisal
variabls | Prosluci Prodict | Aversge | Siages
fastor (TR} B

1 2 z 2

2 i 4 3 1

: & 4

4 16 4 4

5 1 ] 15 1]

§ 18 0] 3

7 16 -2 278 i1}

(viy Diagram Explenation .

The mumber of worker = messured on, X-axis,
TP, AP, ind MP, are dettited of Y- ais

8

L Gimgr |
ME
g 18

i ..-P"J-'I\‘q"‘-u\.
] e

I
¥ 1 I 1 4 -]

* Lt OF Vartbl Pacim W,
Siape -
(i In the first stage MP, incresses up to thad
worker and it is higher tdhan the average product
(i} So thaf total prodisct 15 mereasing &b incrensng
iale
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a6,

St - 10
i In the second stage, MP; decreases up to sixth
umst of labour whers MP; curve méersects the
-5,
(ap - MEF; curve 15 bower than the AP, .
ifii] TP, incfedses &t a decreasing rate
i age -TT1
i1l Therd stage of produchien shows that $he sixth
vt of Inbour s marked by nesntree
iy MP; and AP, comfinues to fall bar remains
positive.
(i) TP, dechnes with the employveent of more
umits of vanable factor, Laboor.
List omt the properties of ise - guants with the
help of diagrams, JREQT fFave MR- 2818
(4} Propecties of Tso quani curve
it The Tso - quend curve has negative slope,
(y It slopes dowmeards from kel to
nght mdicobmg that dhe factors are
substtutable.
iy This explainz the Princsple of margunal
rate of Technieal Substihhon (METS 3

iy Copstant METS  (Streight Ime)  and
merensing MRTSE (Concave) are alse

porssiible
& j Diepimikiny W8 TY - i oy §ILTE A2, e g WETE
i \ i .
u} ‘\"\-\.\_\__\_\_ ¥ fu |||I
T Dk R & Limei. X

(B) The lsa - quant corve B convex to the arighn.

i Tids means thet factors of production are
substiutable to each pther.

(i) The capital subsistoted per vnit of laboor
foes on decrersing when e Tio quant
oomvex to the onpn

() Man inrer Secibon of lndifferemcs Cuive

i} For instance, podot A e on the [so quants
TQ, and T,

(i} The pomt C shows a higher outpaod and the
pomnt B shows a fower level of output 10,

(il C=A.B=A % C=8 BuC > B wich
is illogical.

Capiial

()

Capilal

Yl

1
!
A
a
T - A00 sl
B
.
B — ] Y
Lbscarr W
%
\\'w-\.""
! i
hl.

i L, %

1 1

Labour

An upper - I8 - QuUant Cculve Fepresents q

higher level of matput:

(1) Higher I0s shows higher outpat and lowrer
T show Iower outpats

(] The upper 150 quant curve umplies the use
of more factors than the lower of more
factors fhem the lower 150 quant curve

Hy
L}
%
T
\ -._\_\_‘-\_\__\_\_
-________ )

pL R 1]

— 1 e

Laboui X
IS0 - quend uive does mol fouch eifher x
axks 0 v Axis
Mo Iso quemt touches the X was or Y axis
because, ICH . onby capital is vsed and in I onlby
labour 15 wsed
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A7, Elucidate the Laws of Returns to scale, Mustrate.
Ans, Lavws of return o oale

SOF-Jwrk: HY-201 )

(i) In te long -, there is po difference betwesn
fizced factor ond variable factor in the sense tha
all factors are varahbls

) The Laws of mioms to scale explan the
relationshy hehreeun:lnhpu:mdﬂmsmlenf
pits dn fhe loog mim when all the mpuots are
mereased m the same proporfion

Assmmptions

i Al the fectors of
orgarnzation s fios

(i) There 35 no changes m technology.

ity There 15 perfect competition i the market

) Ouwtpats or refums are measired m physical
quanhities

Fhree Phases of Return ta Scale

(A Increasing rerurns b senle:
In this case if all inpats are increased by one
percent, outpat moreass by more than one
peTcant.

(By Comstant ceturns o scale:
In fhas case of all wpuis are meressed by ons
percent. oulpul imcreasing exacily by one
PETCEIE,

(O Dimindshing vehurns 1o scale;
In this case if all ingats are moreased by one
percent, output incTeases by less than one

pereEnt
Laws of Returms to Scale

poal ffe varialile Lo

' . o
I o 2 4+ Deasrmy e s
T
! L]
4 L PPN
| |_h¢1 ol e
o [ 1 i Y e
Explunarion ;

it In the sbove fipure the movement from pount
"Nt podnt T represents INCreAsing renmrns
scake

Y] 11Fmdu:es more than double from g= 1 to g =3
witen 2 unts of EBabour and 2 units of capital are
el

Ans, L

(i} The law of constant returns bo scale 15 mmphed
by the movement from the poumt b to pomt ¢

(iv} Decreasing refurns to scale are denocted by
the movement from the pownt ¢ to pomt d since
doubling the factors from 4 units fo B unifs.

. Explain the lnterval and external economies of

seale, fBEN
Internal ecnnommies of scale -
gy Trtermal ecomiomics of seale pefers o the
advantage enjovesdl by fhe preduction
wmit.
iy For exangple 3 firm e e advanta
: of am t!:lﬂ].1]:1}.u|:.'11.1|:|a|1 J?::E'-memusl ml:nde?;
machinery.
in) Technical ecopnomics - When the
s1ze of the firm 15 large, larpe amount
of capstal can be nsed
by Finnckal econommies :
(i) Bag firms can float shares m the
market for capital expansion

iy while smiall fiomes canmol ensily
float sleares m the market.

{c} Labpar Ecoponies

iy Larpe scale produchon imphes
g‘at&r and mmande diviseon of

bour
{iiy Thas leads o specialisation whach
enhances the quahty
(dy  Alapagerial Econguomies
scale ton  Cacilitates
Lf.-;ré‘uea]mhm m%atm
{e}  Adnrketing Economies ©
In the comtext of large scale
duction, the producers can both
Iﬂr’;rmw - matenals at cheapar cosi.

i} Economies of survival ;

(i Produet divessificatiot 15
possible when there is large scale
produciion

(i) Thas  redheees the nsk m

productiom
. Exmermal Economdes of scales

iy Extemal econonues of seale refer fo
changes, m amy factor ontsede the firm
causig an snprovement i the production
process.

(i} These are the sdvantopes emyoved by
oll the firms i the industry due fo the
stuctural prowih

(i) I[mportant external econotrues of seale are
listed below

(17 Imcressed transport facilities.

{1 Banking facilities

(2 Pevelopment of fosmshups.

4 Development of infehmation and
comamanerhon




UNIT 4 Cost and Revenue Analysis

Multiple Choice Questions.

1.

2.

10.

11.

12.

13.

14.

15.

16.

Cost refers o

(ad Price by value (¢} fixed cost  (db eost of production

Cost functions are derived from ____ funetion

fa} production (b invesment (o) demand  §d) consumption
Money coat is also knowmn 25 e0sL

(a) explicit  (b) implicit () social  (d) real

Explecit cost plus fmplicht cosg denote  cosL.

[a) =ocial (h)] ccopomic (] money (d) fixed

Explbcit costs Are terimed as

fa) out of pocket expenses  (h) real cost (2] social cost {d) sunk cost
The costs of self-owned resources are termed as ____ cost.

(a) real (b) explicit (c) money (d) impilicit

The cost that remains constant at all levels of outputis ____ cost.

(a) fixed (b) variable (c) real (d) social

Identify the formula of estimating average variable cost.

(a) TC/Q (b) TVC/Q (c) TFC/Q (d) TAG/Q

The cost incurred by producing one more unit of _____ output is cost.
(a) variable (b) fixed (c) marginal (d) total

The cost that varies with the level of output is termed as _ cost
(a) money (b) variable cost (c) total cost (d) fixed cost
Wage is an example for __ cost of the production.

(a) fixed (b) variable (c) marginal (d) opportunity

The cost per unit of output is denoted by cost __.

(a) average (b) marginal (c) variable (d) total

Identify the formula of estimating average cost.

(a) AVC/Q (b) TC/Q (c) TCV/IQ (d) AFC/Q

Find total cost where TFC = 100 and TVC = 125.

(a) 125 (b} 175 (c) 225 (d) 325

Long run average cost curve is also called as _ curve.

(a) demand (b) planning (c) production (d) sales

Revenue received from the sale of products is knownas _ revenue.

(a) profit (b) total revenue (c) average (d) marginal

20




17.

18

19

20.
IL

Tevenue received from the sale of additional unit is termed as CeVENLLE.

(a) profit (b) average (c) marginal

Marginal revenue is the addition made to the

(a) total sales (b)) total revenue

{c) total production

(d) total

{d) total cost

When price remains constant. AR will be MR.

(a) equalto (b) greater than (c) less than

{d) notrelated to

4 bookseller sole 40 books with the price of Rs. 10 each the total revenue of the seller is Rs,

Very Short Answer Questions:

21. Dvefine cost.
=¥ Cost refers to the total expenses mowrred 1im ihe production of a commodity
= Cosr analyss refers to the shedy of belaviownr of cost m relation to oae or more production

11, Define cost function.
The fisetional relarsenahap barween cost aed outpat is expressed as “Cost Funetion'

(c-1@]

where, C=Cost and Q=Quantity of outpar.

23. What do vou mean by fixed cost?

4 Fixed Cost does nof elsaxee with the elsange e the quant ity of ouafpa.
4 Fized cost 1= alse called as “Supplementary Cost” ar “Cheerhesd Cost’

24, Define Revenne.
The amount of moaey that a producer receres n exchange for the sale of goods &= known as

revenns, In short, revenne means sakes reveune,

15, Explicit Cost - Define.
[t reters to the actual expensditures of the firm fo purchase o1 lure the mpads the firm needs

Exainples: o) wages, i) pennaent for raw matersal and ece

6. Give the definition for ‘“Real Cost™.
¥ Benl orst retars 1o the naviment made o conpersad= the eftats and siertfices o8 %l ficion owners

for teeir seiviees - productxan

It inclodes *he e foree aad sacrifices Jandleods inne vse of land.

27 What is meani oy ool cesiT

*® A cost menrred i the past sdsd cadmot be vecoverad i funire i called as Sl Cosn.

# [t is called as sunk becanse, they are umalterable, nnrecoveamable, and if once mrvested it shoukd be
treated as drowned or disappeared. Exnmples : Cost of specmlized squipments

lll. Short Answer questions:

28. Distinguish between fixed cost and variable cost.

Fixed Cost

Variable Cost

It refers to the cost incurred on the fixed
factors of production

Its refer to the cost incurred on the variable
factors of production

This cost remains constant irrespective of
the levels of outputs

It varies with level of outputs

Even if the outputs is nil, fixed cost will be
incurred

This cost will increase / decrease with the
levels of outputs.

This is also known as supplementary costs or
overhead costs

This is also known as prime costs.

Its includes:

It includes:
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a) Rent for the building
b) Interest paid on capital

a) Price of raw materials
b) Wages of labours

30, State the diflerences between money cost and real cost.

Momey Conl

Real Cosr

Production cost expresssd in money fenns
15 called = money cost,

The etforts and sacrifices of all factor ovmers
bor thew services m prochicton

It melndes the expendifires such as cost of raw
usatermls. payment of wages and
salariss,

It meludes the affeats and soenfices of
land berds i the nse of kand, capitalists

These cods are corsidered as out of pocket
EXpensEt

Adam Smuth regarded pains and sacrifices of
lahour ze renl cost of prodict on

:‘nlnne:." costs are also called ax Prone Cost or

Dhareet Cost o Monoual Cost

It s alzo called opp :-rlm-.ir}- coat or

displagemsnt oo

30, Distimguish between explicit cost aud implicit cost,

Explicit Cost

Implicit Cost

It includes actual money expenditure
incurred by a firm in hiring or buying the
factors it needs in the production process

It is not actual money expenditure but is the
cost of factors owned by the firm and used
by the firm in its production process

It is explicitly shown in the firm’s books of
accounts and is thus, called accounting
costs

It does not enter in the firm’s books of
accounts

It is a payment concept

It is a receipt concept, i.e., the payments are
received by producer for supplied services

Examples: Wages, rent, interest, insurance,
etc

Examples: Wages of self aborrent for self
owned premises, etc.

31. Define opportunity cost and provide and example.

1. It refers to the cost of next best alternative use.

2. In other words, it is the value of the next best alternative foregone.

3. For example, a farmer can cultivate both paddy and sugarcane in a farm land.

4. Opportunity Cost is also called as ‘Alternative Cost’ or ‘Transfer Cost’.

® s MIC « AC AC falis

o When MC = AC_ AC & constant
ared @ 5 FEnEmLET paind

& Whien MC = AC, AL daas

T
MC AL
’ ‘“\ £
= b 4
3| N
0 OuTPuT ®

A2, Siate the relationship between AC and MC.

»  When AC is falling, MC lies below AC.

»  When AC becomes comstant, MC alio becornes equal 1o 11
b 4 When AC stats mwereasing, MO les above the AC
> MC curve always cufs AT st ifs mumimnm pomdt from below

33, Wite a short nofe on Marginal Eevenue,

Margmnal cosi 15 the addifion made o the total cost by producme one exira vt of outpu.
MC =aTC /A
where MO denotes Marginal Cost, ATC denotes changs in tetal cost and AC denotes changes o

iotal quantiy
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The other method of estimating MC is ¢
MC=TCn —TCr=-1 0t TCn+1 —TCn

where, *MC" denotes Margmal Cost, 'TCn' denoies Total
eost of ‘n'th tem, TCn-1 denotes Totml Cost of 'n-1° ik
irenL, TOn+1 denotes Tatal Cost of 0+ th fem

34, Dhiscwss ithe Long vun cost curves with saitable diagram.
1.  Tmthe long mn all factors of production become variable.

Erd BF

1. LAC = LTCQ where, LAC denotes Long-Fun Average
Cost, LTC denotes Long= run Total Cost and  denotes

the quantsty of output,

2. TheLAC curve is derived from short- run average cost

S Ss.

3. It i the locus of points denoting the least cost curve of

producing the correspondmg outpu.
Other names of LAC:

The LAC curve 15 ealled as *Plant Corve® or ‘Boat shape

Corve or ‘Tlamning Curve” or "Envelop Curve”,

IV, Long Aaswer Juestions:

There are nerther fixed mputs wor fixed costs in the long mm.

The existing =ize of the firm ¢sn be incressed mn the caze of long mum

L
LT
' ]
¥ .
Fof 1
il :
 Tom T'HT B f"‘[
L] ] 2 . [} | "
H gy
LR ¢ i RALS,
N mAL ,."
-/ AL
A
K w
[hrigrun

35, I woral cost = 104+4)3, Eod oar AC, AvC, TFED, A¥C when (=3,

IC =TEC + TV
AVC=TVC
U
AFC=TEC
0
AC=TC
Q

(i) TC = 10+ 03, Tonal cos bas two componesss TFC and TVC,

() TFC = 1= the: gl fixed cost whnch docs ot chasge with the level of outpat.

(iil} Bt i derermned by parting the vakee of )

(1) Given the total cost fomeeon TC = 10+ (3

()= s of cutput whese (=5

Hiere TEC = 10{THC wall vt change when output changesi
TC=W-+{333

=10+ 1H

TC=13%

[35= 10+ TWC

135-10=TV(

125=TVC

TV =1 T = |35, dowewsre THL ¥

TC = TFC + TV
135 = x+ 125
135 =1

THC = 10

AFC =TFC
0

AFC =
3

AFC=2 |

AVC =TV
i
AVC =[28

AVC=25

AC=TC
Q
AC = |18
5

A=317 |
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36. Discuss the short ron cost curves with suitable diagram.
Short rumn cost curves:

1. TFC - Total Fixed Cost Curve
2. TNC = Total Vanable Cost Carve
3 TC - Tokal Cost Carre
d. AFC - Average Fined Cost Curve
3. AVC = Average YVariable Cost Carve
6, AC ORATC = Avernge Cost or Avernge Total Cost
7. MC - Blargaial Corst
Total Cost Curves Shorl run average cost curves
Y TG b
T™VE
=

- o

a 8

“ TFC

X
o OUTPUT o OUTPUT X

Taotal cost

Tota! eost we the som of tote] Ioced cost and tatal varable cost,

e —p—. . i1 1 -
I = Total cost [E = THC 4+ TV J

FEC = Total Fisd eost fecst of ired faetoz)
MV'C = Tomal variable codr yCost ol Yariable Factars)

REaTE TN AVEerags Tosl [Urves
Average Fixed Cost (AFC)

The average foced cost is the fixed cost per unit of owtpuit. [t s obitained by diveding the fotal fived
cost by the mumber of vegs of the commodiy produced.

| AFC =TFC /|

Average Variable cost (AVD)

Average variable oozt is the variable cost per nnit of output. It &5 the total variable cost divided
by the munber of units of output produced

[ ave=1vC/Q |

Average Total Cost or Average Cost
Average toial cost is sunply called sverage cost which is the total cost divided by the number of units of

output produced. [

AC =TC / O {or)
AC = AFC=AVC

Marginal Cost
Margmal gost 15 defined a5 the addition made to the fotal cost by the production of ons addiiicnal

it of ewpu,

[an =TCn—TCn-1 ]
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37, Bring out the relationship between AR and ME curves under various price conditions.

Average Revenue

Average revenne is the revemme per unit of the commeodity sald. It is calenlated by dividing the tot:

revenue by the nuwmber of unifs sald

=

Marginal Revenue

Marginal Bevenue is the addition made to the total reveme by selling one more unit of a

commodity
{MRI]:TRJL—TRII-l ]
Copstant AR and MEB (ai Fized Price) Declining AR agd MR (at declining Price)
[Qrmantity | Price [Tatal Average |Marginal [ Pele 0y | |
[ Sellad i |Revenue |Hevenue Iﬂﬂnut Quantity | gverage “'h:-m '::"“m'
@l (TR)  [(AN)  [(MR) Bold | aewewse | RIS | T
: e : |= 1 s | : t
i 5 5 5 5
3 [ 5| w | & 5 ; X o
- - - - 2 o 1 #
= :' :I-‘- ; 3 A M 2 f
i v :ﬂ ;'I- g i - H i
5 5 35 > - 5 A g 2
i 3 3 > - ] = %0 ]
) 1 35 3
¥ # kY T4 =
I L P I i
(i} | (L8] -
'_."‘-dl = [ | .ELR
a r l | v L"‘m
: -
J ---hlﬂ- :I -‘:‘-‘:E"‘--\._h
S e e 3T R 2 ) ] " Wy
Oufput " N (i
¥ i f ) R
2 Ty AR
Explanation 7 L L-‘h‘ L
1. IWa firm i able fo soll additional s at the some 4 ‘aﬁ-
price then AR and ME will be constant snd egqual. 8 \\
2. Tfthe firm is able 1o sell additional umits only by . L 9

reducing the price. then both AR and MR will fall and be different.
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10.

11.

12.

13.

14.

15.

16.

17.

UNIT 5 MARKET STRUCTURE AND PRICING

In wiich of the follosing i3 not & type of merker soracnre price will be very high?

(a) Perfect competition  (bd Monopoly  dc) Duopoly  ddb (ligopoly
Fepueilibirium condition of a fem is

Gy MC=MR (b MC>MR (¢} MC<MRE (d) MR=Price

Which of the following i3 a feanire of monopolistic competition?

{a) Oneseller (b Few sellers (o) Produet differentiation  (d} Noentry

A firm under monopaly can earn in the short run

fa) Mormal profit  (b) Less () Super normal profic ) More loss

There [ 00 excess Cipacity under

{a) Monopoly (b)) Momopoliste competidon (o) Oligopaly {d) Perfect competition
Profit of a firm is ohtained when

{al TR=TC (bl TE-MC (c) TR-TC id} TH=TC

Annther name of price is

(a} Average Revenuwe (b} Marginal Revenue (2} Total Revenue  (d) Average cost
In which type of market, AR and ME aresqual

{a) Duopoly  €h) Percfect competition () Monopolistic competition  {d} Oligopoly
In monopoly, ME curve lies below

fa) TR (b} MR (c) AR (dd AC

Perfect competition assumes

{a) Luxuey goods (b Producer goods  {c) Differentlated goods ()} Homogenesous goods
Group equilibrivm is enalysed in

ia) Monopoelistic competition  [by Monopoly (ol Duwopoly  id) Pure competition
In monopolistic competition, the essentisl feature i

{a) Same product (b) Sellingeost () Single seller (d) Single buver

Monopolistic competition i a form of

{a) Oligupoly (b} Duwopoly  (cd Imperfect competition (dl Monogoly

Price leadership is the attribute of

{a) Perfect competiion (bl Monopoly  (c) Oligopoly (d} Monopolisticecompetition
Price discrimination will always lead to

{a) Increaseinoutput (b} Increase in profit (o) Different prices.  {(dl b and ¢
The svermge revenue curve under monopolistic competition will be

fa) Perfectly inelastic  (b) Perfectly elastic  €c) Relaively  (d) Unitary elastic
Under perlect. competition, the shape of demand curve of o firm is

fa) vertcal (b Horizontal o) Negatvely sloped  (d) Positively sloped
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18. 1n which market form does, an absence of competition prevall?
fa) Perfect competiion  (h) Monopely {¢) Duopoly  (d) Oligopoly
19.  which of the Iollowing involves maximum exploitation of consumers?
fa) Perfect competition  (h) Monopely (¢} Monopolistic competition  (d) Oligopoly
20. Anexample of selling cost is
(a) Raw material cost (b) Transportcost (c) Advertisement cost (d) Purchasing cost

1. Very Short Answer Questions:
21. Define Market.

T Ecomomics, the temm ‘market” refers 1 a system of exchange berween the buyers and the sellers
of a commodity. drectly or indeectly

11. Who is price-taker?
i A price taker 15 a seller who las no control to fix prices for 2 good or service.
3. A prace taker smnply has to accept the market prce.

23, Point out the essential features of pure competition.

A. Large Wuinber of Buvers and Sellers b, Homogeneonus Product and Uniform Price

<. Free Enfry and Exat d, Absence Of Transport Cost

24. What is selling cost?
Selllng costs refer to those expenses which are incurred for popularizing the differentiated product
and inereasmg the dernand for in.

I5. Draw demand curve of a firm for the following:

a) Perfect Competition by Monopoly
imj o 1§ For-is [k LRt i & Mprppeinds Dsmand © s
T Lt Ll
[
Dumrie wd JugapeA 1 Crumrrirry ad Cegapard

26. Mention any two tvpes of price discrimination
(i) Personal — Different prices are charged for dufferent mdividuals (Ex: Reihwas Tickar)

(if) Geographical - Different prices are charged at different places for the same product (Ex: same baok
sold in different counpies at different prices)

27. Define “Excess capacity™.
A monopohiste frm produces deliberately oiuiput which s less than the optimem ouspid that 15 the
omtpit corresponding to the manimum averaze eost,

lI. Short Answer Questions:

28, What are the featwres of a market?
1. Buyers and sellers of a commodity or a service

2. A conunoddy 1o be bought and sobd
3. Frice pgreeable to buyer and selles

4. Dhir:ct or minvct exchange
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19, Specify the rasure of entry of compseditors ic peifect rosietiticn and oo opoly

i\ Mature of e try of compititor

Perfest E'E*.np-erh:: -] i i

It = possible for the wverv efficient producer,
producing the produet ar a very kow coct. to eam | There & strict barrier for entry of aoy new fiem:
super normsl profits. Atfracted by such a profit,

new firmss enter into the ndustry,

30, Describe the degrees of price discrimination.

Accordimg to A.C.Pizow, there are three degrees of price discrimination,

(i} First degree price discrimination

A monopalist charges the maxinmm prics that a buver iz willing to pay. Example: Anstions

(i} S¢cond degree price discrimination

Under this degree, buyers are charged prices in such o way that a part of them consumer’s surplus 15 12ken
away by the sellers. Example: Cimema theatres .

(fii) Third degree price discrdmination

The monopolist splits the enrre market mto o few sub-madket and charges different prace m each sub.-
market. Example : Bailways Ticket

31. Siate the meaning of selling cost with an example.
L. It was Chamberlin who introduced the analyss of selling costs.
2. Selling costs pkay the key role i monopoliste competition. The firms have to comipsie 1o proiuote
ther =ale by spending on advertisements and publicity ads to the demand of the produoct

J.In selling costs we include the salaries of =ales persons. allowances to retatlers to display the
products ete. besides the advertisements.

32. Mention the similarities between perfect competition and monopelistic competition.

Al Beasis of Shnilaviries Perfect Comperifion Momopabistic Commpetition
1 Number of Prodscers In mimerable Large
sellers
- Enfry / Exit Fres Fres
Profit Abnormal profit in short- ning | Aboonmal profit in short-rm,
3 Bonual poofit @ leng-mmn Soaal prefit w long mn
4 Quantity Very bags Sanbetatial
33, Differentiate between “firm’ and “industry’,
Firm Industery
Meaning A firm refers 10 o sitigle prodocion wmir in | An aidostry refers tooagrong of
aal indusiry firms
Produciion Producing a large or a small quanhan of n | Producing the same prodact
COTHEMALTY O service OF SEMVICE 10 SCOnoy,
Example A zingle cement firm Cemient Industey {growp of firme]

34. State the features of duopaly.

1. Each seller i fally aware of his rival's motine and actions,

2. Both sellers may collude (they agres on all matiers regarding the sale of the commodiby)
3. They may enter into cut-throat competition.

4. They fix the price for their product with a view to maximising their profit

IV. Lomg Answer Questions:
35 Bring out the featores of perfect competitiomnm.
Meanng of Perfedt Campetition
Perfect Comieciition madket is that tves of merker inowhicl the mumsber of Bopers and sc:lers is
very lerge, all arz engaged w biving and so/limg 8 homegenous product at nodrm prce
Frataies
1. Large Namber of Buvers and Sellers
The term, *large number of sellers” implies that dare of each mxbividual seller 15 @ vary, very small
aquainem of o produet,
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2, Homogeneous Product and Unifonn Price

All the unirs of the product are identical () of the same iz, shape, colour, qualiy etc, Therefore,

a uniform prices prevails o the market.

3. Free Entry and Exit

Efficient producer producame the proeduct at a very low cost, 10 eam siper normal profis, Afeacted
by kel @ profic, new firms enter info the mdusiey
4. Absence OF Transpert Cost

The prevalence of the uniform price is also due to the absence of the transport cost.
&, Perfect Boowledge of the Market

All bawyers and sellers lave a thorough knowledge of the quality of the product. prevailing price etc.
ik, Mo Government Inlervenfion

There is no gevernment regulation on sapply of rew materials. and m the detennination of price etc
35, How price and ontput are determined under the perfect competition?

Mearing of Perfect Competition
Perfect Competition market iz that fype of market in which the manber of buyers and =zllers is

very large. all are engaped in buying and selling a homogenons praduct at onifonn price.
Tmpartant Features

1. Large Mumber of Buvers and Sellers 3. Homogeneous Product and Unifarm Price
Z, Free Entry amd Exit 4, Almence Of Tragsport Cos

Price & Cuarpal Determingthon-PerTect Comperition during Shoit Run

Firm | Firm 2 ¥ i
¥ M 1AL
A
1 ol
it L (AR=ME] = L
e T [AR=NIT)
i
Chplput {]ulp.ul 2 == -
Abmarmal=2 K 50= 100 Loas=2 x 50=| 0 Chamatity
AR — Average Pevenue AC — Average Cost
ME. — Marpinal Revenue MC — Margmal Cost

The finms under Perfect Competition take the price (107 from the indusiry and start adjusting
theo quanrinies prodiged
For example OQd= 100 — 5P amd Qs=3P. At equilibrivm Qd=0s. Therefore 100-5P=5P.
100 = 10P; 10010 =F Oxd = demand P = 10 P =Prige
Qd = 100=3( 10} Os = Supply 100-20 = 50
Qs =51 F=50
Therefore 50 = 50
Its total revenme is SOX 10=500, Its rotal cost is 50X 12-600, Therefore, its toral koss is 600-500=100
Price = AR=MF. = Minimam AC

37, Describe the features oligopoly,
I Fuw Ineoe fTrms
Very few big firms oown the mmajor control of the whele market by producing major portion of the
miar ke demand,
2. Intecdeneadene aniong frms
The price zud quality decisions of 2 particvdar fom are depeadent on e price mul cuality decisson:
of the rival firms.
3. Grewy Dehaviner
The firms under oligopoly realize the importance of mumal co-operation
4. Advertisement cost
The oligopolist coubd raise sales either by advertising or mnproving the quality of the produoct.
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3. Nuture af product

Perfect oligopoly means hoinogeneons predscts and moperfect oligopoly deals with hetero genecus

products.
fi. Price rigidity

The oligopolistic firns do nof change their prices dug ro the fzar of vals™ reacrion

38, Iustrate price and outpul determination under Monopoly,

Meaning

Monopolv 15 & marker simweture characterized by a singie seller, selling e undgue product wirl the

pestricton for & mew firm to enter the innrked

Features of Monopaoly

1. There is a single producer / seller of a produer.

2. The product of 2 monopolist is unique and has no close substibate;[

3. There 15 stnct barrier for entry of any new firm:

4. The monopolst & a prce-inaker

Price & Ourput Deterininarion Under Momopaoly

Explanaviomn

. The Diagram shows that MC cuts MR at E 10 give
equilibwim outpast as Ohd.

COSTADVENLUE

a

AT AL
q

AT

2. At OM, the price charged is OP {we find this by extending line EM till it touches AR or demand

curve).

i

Also at OM, the cost per unit is MS.
Therefore, profit per mnit 15 SQ or total profit is PQRS.

[ Total profit = (Average Revenue — Average Cost) X Total output

39. Explain price and output determined under monopolistic competition with help of

diagram.
Meaning

Monopolistic competition refers to a market situation where there are many firms selling a

differentiated product.
Important Features

1. Large mumber of buyers and many sellers.
2. Firms produce differentiated products.

3. Firms compete with each other by incurring selling cost
4. Non - price competition

Short run Profit

AR AL, R &MC

i [
Dhnanting

Explanation

ol b e

Short run Loss

Ditarily

The profit maxmmsation 15 achieved when MC=ME_

Total profit is "PQRS’. This is super normal profit under short-run.
Total loss is "PQLE". This firm incurs loss in the short min

In the long mn AR curve is more elastic
At E’ point = AR=AC and MC=ME_ It means that a firm eams normal profit. AR is tangent fo

the Long Run Average Cost (LAC) curve at pomt *Q)’.

e i e e aL

AF, AL MU & M

Long mun Equilibrium
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10.

11.

12.

13.

14.

15.

16.

UNIT 6 Distribution Analysis
Multiple Choice Questions.

In Econamics, digtribution of income is among

(ad factors of prodocton (b Indivicenl  ©) fema (d) ceaders

Theory of distribution & populacly knowmas

[a} Theery of prodoct-pricing (b)) Theocy of facter - pricing  (c] Theory of wages
id] Theory of interes|

Rent is the reward for the wse of

(o Capital (b Labour (c) Land 4d) Orpandzation

The coneept of Qunsl-Rent is associated with
(ad Rivardo (b)) Feynes () Walker Gf) Marshall
The Classical Theory of rem was propounded by

(a) Ricarda (b Keyaes (0 Marshall (d) Walker

Original and indestmoctdble power of the sall §s the verm used by
(ad |5 Mill (b)) Welker (ch Clark (d) Bicardo

The reward for labour (s

fal Bemr (b)) Wage (c) Peafit  [d) Interest
Mohey wages are alzo known o
lah Bealwages (k] Mominal wages (ch Crigimal wages  (d) Transfer wages

Reskdual Claimant Theory 15 propounded by

[a} Keynes (b) Walker (o) ][:l.l.l.ll.-l.ﬂ_,' idl Enight
The reward given for the e of caplial

(ah Bent (b)) Wage (o) Imbercst (d) Preofit
Eeymesian Theory of interest is popularfy known as

[a) Abstinence Theary (b} Ligoidity Preference Theory  (€) Loanable Punds Theery  (d) Aglo Theory

According o the Loanable Funds Theory, supply of leasable fundsis equal o
(a) S+BC+DH+DI (b)) I+DS+DH+-BM (¢} 5+D5-BM-DI (d} 5+BM+DH +D5

The comeept of meeting unexpected expenditure according 10 keynes i3

(b Transaction motwe () Precawtionary motivee () Speculagive motive  d) Personal motiyve

The distribution of neeme ar wealth of a country among the individuals are

{a} Functional distribution  {h)y Personal distnibation (o) Goods distribution {4y Service distnbution
Frofit ks the reward for

i} Land (h) Organization ) Capital {d) Tabour

Innowation Theory of prafit wias meen by

[a} Hawley (b Schumpeter (e} Eeymea  {d) Enight
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17. (asi - rent arises in
{ad Man-made appliances  [b) Home made items () Imported items  (d) MNone of these

18. “Whages as a sum af moeney ace paid under contract by an emplover to o worker for secvices renderad” - Who
zaid this?
(@} Benham  (b) Marshall (o) Walker (d) [.5 Ml

19. Abstinence Theory of Interest was propounded by

{ap Alfred Marshall (h) MW, Senior (¢} Bahm-Bawerk (1d) Knue Wicksell
20. Loanable Funds Theory of Tnterest is called as ;
{a) Classtcal Theory (b Modern Theory 1) Traditional Theery  (d) Neo-Clasical Theory
I1. Very Short Answer Questions:
21. What is meant by distribution?
4 Distribution means division of income among the four factors of production.
4 Distribution is given in terms of rent to landlords, wage to labour, interest to capital and profit to
entreprencurs.
22. Mention the types of distribution.
1. Personal Distribution: Personal Distribution is the distribution of national income among the
mndividuals.
2. Functional Distribution: Functional Distribution means the distribution of income among the four
factors of production

23. Define "Rent”.
According David Ricardo, Fent 1s that portion of the produce of the earth which 15 paid to the
landlord for the use of the original and indestructible powers of the soil”.

24. Distinguish between real and money wages.

S5.NO Money / Nominal Wages Real Wages

1 Money wages are referred to the wages Real wages are the wages paid in terms ofgoods
paid in terms of money. and services.

2 Exzample: Money received by a worker per| Example: Real Wages = Money Wages — Effect
unit of time or quantum of work etc., of inflation on the purchasing power.

25. What do you mean by interest?
< According Alfred Marshall,” Interest is the price paid for the use of capital in any market™
<=  Interest is the reward paid by the borrower to the lender for the use of capital
26. What is profit?
*  Profit is a refurn to the entrepreneur for the use of his entrepreneurial ability.
* It is the net income of the organizer.

27. State the meaning of liquidity preference.
Licuudity preference means the preference of the people to hold wealth in the form of liquud cash other
than bonds, securities, gold and etc.,.

III. Short Answer Questions:
25, Wiai ave the motives of de:nand for money?
4 The Travsaction Motive The Tansaction motive relates to the desire of the people to hold cash for
thie coiteut trausactions. Wi =I(¥)
% The Precautoza1y Motive Tae precauionary motive relates fo the desire of £= people to hold
ciash to meer unexpected or unfarzseer experditwes. Mp=-{(v)




4 The FPrecaunona1y Motive Tie precautoniry motive relates ro the desire of £« people to hold
cish to meet unexpected or unforaseern experditwes. Mp =: £ (v)

<= Tizo Speculative Medve The coscoiativs meinve 1elates te the desie »f1he peosie fo koid cashin
order fo take advantage of market movements. Ms=f(1).

29. List out the Kinds of wages.

¥  Neminal Wages or Money Wages: Nominal wages are referred to the wages paid in terms of money

» Real Wages: Real wages are the wages paid in terms of goods and services.

¥ Piece Wages: Wages that are paid on the basis of quantum of work done.

»  Time Wages: Wages that are paid on the basis of the amount of time.

30. Distinguish between rent and quasi-rent.

SNO RENT QUASI-RENT
1. Rent accrues to land Quasi-rent accrues to manmade appliances.
2 The supply of land is fixed forever. | The supply of manmade appliances is fixed for a
short period only.
3 It enters into price It does not enter into price

31. Briefly explain the Subsistence Theory of Wages.
1. According to this theory, wage must be equal to the subsistence level of the labourer and his family
2. Subsistence means the minimum amount of food, clothing and shelter which workers and their
family require for existence.
3. If workers are paid higher wages than the subsistence level the workers would be better off and
they will have large families.
32. State the Dynamic Theory of Profit.
According to J.B Clark profit is the reward for dynamic changes in society. Profit cannot arise in a
static (unchanged) society.
Population is increasing
Wolume of Capital is increasing.
Methods of production are improving.
Forms of industrial organization are changing.
The wants of consumer are multiplying.

* * * * &

33. Describe briefly the Innovation Theory of Profit.
According Schumpeter profit is the reward for “innovation”. Innovation means mvention put mto
commercial practice. An innovation may consist of the following:
& Introduction of a new product.
@ Introduction of 2 new method of production.
& Opening up of a new market.
# Discovery of new raw materials
& Reorganization of an industry / firm.

34. Write a note on Risk bearing theory of profit
According to Hawley profit is the reward for “risk taking” in business. Risk taking is an essential
function of the entrepreneur and is the basis ofprofit.
1. Since the entrepreneur undertakes the risks, he receives profits.
1. Ifthe entrepreneur does nof receive the reward, he will not be prepared to undertake the risks.
Thus higher the risks, the greater” are the profit.
3. It is the profit that induces the entrepraneurs to nodedtake such risks.
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IV. Long Answer ©uestions:
35, Explain the Marginal Prodactivity Theory of Distribafion.
Meaning
According to the Marginal Productivity Theory of Distribution. the price or the reward for any
factor of production is equal to the marginal productivity of that factor. In short, each factor 1s rewarded
according to its marginal productmvity.
Assumpition
1. Allthe factors of production are homogenous.
2. Factors of production can be substituted for each other.
3. There is perfect competition both in the factor market and product market.
4. There is perfect mobility of factors of production.
Marginal Product
The Marginal product of a factor of production means the addition made to the total product by

employment of an additional unst of that factor. The Marginal Product may be expressed as MPP, VMP
and MRP.

Marginal Physical Product (MPP)
WValue of Marginal Product = VIVIP = MPP x Price Marginal Revenue Product MREP = MPP x ME.

MP :Under Perfect Competition
1. When there is perfect competition in the factor market,
the firm is in equilibrinm (ie_ earning maxinmm profits) only when MFC = MEP.
2. Hence, in the diagram the firm reaches equilibrium at point Q by employing ON units of factors

and paymg OF pnice (N{J)) where MECU = MEF.
At the pomnt Q, MRP= ARP.
3. The price paid to the factor (NQ) is also equal to
marginal revenue product (NQ)) and average revenue
product (NQ).

v 4
-3

/ '.'“_\Qrc = AFC
/. . UARP
MRP

4] M
Factor Llnits

Product

Factor Price and Revenue

=

Under Imperfect Competition e
MFL

1. Under imperfect competition, At the point Q. /.
MFC =MEP, where the employer attams his 2 AT
maxinmm profit and so he stops employment
of the factors at the point.

2. The total exploitation of factor by the employer is
RQ X SR ="PQRS" (shaded area). :

3. Thus. under imperfect competition. factor is r. iih
exploited at the egquilibrium position.

U
'~

Faictor Price and Reveoue
Pacidus

36. INlusteav» the Ricardian Theorv of Rent.
Defimtion

Accouding to Bocirde,"Rent s ‘hat rortion of the preduce of the eartt which s paid to the
lanclord for the use ot 1y original and mdestiutible puwers of the soil™.
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AssImpon

1. Land differs in fertility.

N
2. The law of diminishing returns operates in agriculture. 40 ; :
s CORTIIL L
3. Rent depends upon fertility and location of land. 2~
4. Theory assumes perfect competition £ 0
Schedule of Ricardian Theory of Rent 5 an Mo Rent
L 1 Land
Grades of | Production | Surplus 2 1
lands Ez il
= -
A 40 40-20=20 0 A i C X
B 30 30-20=10 Various Grades of Land
C 20 20-20=0
Explanation
1. In diagram X axis represents various grades of land and Y axis represents yield per acre {in
bags).

2. 0A AB and BC are the “A” grade, ‘B’ grade and *C" grade lands respectively.

3. The application of equal amount of labour and capital on each of them gives a yvield represented
by the rectangles standing just above the respective bases.

4. The *C’ grade land is the “no—rent land” “A’ and ‘B’ grade lands are “intra — marginal lands™

37. Elucidate the Loanable Funds Theory of Interest.

Definition

According to Loanable Funds theory, The rate of interest is determined by the equilibrimum between
demand for and supply of loanable funds in the credit market.

Demand for Loanable Funds
1. Demand for Investment (T)

2. Demand for Consumption (C)
3. Demand for Hoarding (H)

Supply of Loanable Funds
1. Savings (S)

2. Bank Credit (BC)

3. Dishoarding (DH)

4. Disinvestment(DI)

# The Loanable Funds Theory, also known as the “Neo—Classical Theory”,
Equilibrium
The rate of interest 1s determined by the equilibrmim between the fotal demand for and the total
supply of loanable fiunds.
Supply of loanable funds =5 + BC + DH + DI Demand for loanable finds=1+C+H

“k *he ogmihrmm point. At this point OF. rate of inferest

E=S+BC+DH+DI=1+C+H £al
1. In Diagram, X axis represents the demand for and supply i '.}H } I:,'H_,r““
of loanable finds and Y axis represents the rate of mferest. é 1\ '! ﬂ"u,e'ﬁ i3
2. The LD and LS curves, intersect each other at the point = ; VA

and OM is the amount of loanable funcls. ke BT
Criticisms | AR i .
1.T 2e loanable fiunds iheory 15 “mdeterminzie™ naless the { M M i

Demnan 4 tor Loanalde Fond @ @ wd

income level is slr=adv knovmn g
- Sapody o f Lo=s Jale Tamiie

2. Culiicalt to comibine rcal faciors ke savings and iuvestinent
with monetary factors like bank credit




38. Explain the Kevnesian Theory of Interest.
Meaning
Liquidity preference means the preference of the people to hold wealth m the form of liquid cash

rather than in other non- liquid assets like bonds, securities, bills of exchange, land, building, gold etc.
Motives of Demand for Money
1. The Transaction Motive

The desire of the people to hold cash for the current transactions (day—to- day expenses)Mt=1(y)
2. The Precautionary Motive

Desire of the people fo hold cash fo meet unexpected or unforeseen expenditures (sickness.
accidents) Mp =1(v)
3. The Speculative Motive -
The speculative motive relates fo the desire of the people | \\

fo hold cash m order to take advantage of market movements

regarding the future. Ms =1 (i) : \\ E

e

Rife of Inferesi

Equilibrium between Demand and Supply of Money

4 The rate of mnterest 15 determined by the demand for money
and the supply of money. A o)

4 If liquidity preference increases from LP to L1P1 the supply Ponnrni Tis Skt andt
of money remains constant, Supply of Money

“y

L The rate of mierest would mcrease fom UL to 011
4. The supply of money remains constants.
4 Total demand for money=Mi-+Mp-+Ms

Demand for monev=supply of monev at equilibrium point ;
Equilibrium Pomnt 1 =E =LP=M2 =1 = Rate of Interest (1)
Equilibrium Pomnt2 = E; =L,P; =M2 =1; = Rateof Interest ... (2)
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10.

11.

12.

13.

14.

UNIT 7 Indian Economy

Multiple Choice Questions

The migin gold mine reghon in Karnataka s

(a) Kokar (bl Bamgirl (¢} Apampur  (d) Cochin

Econgmic growih of a country is measured by national inceme indicated by

fa) GNP (b GDP {c) NNP  (d] Per capita income

Which ane of the fallowing &5 a developed nations?

{a) Mexico (B Ghana () Framee (d] Sei Lanks

The pasition of Tndian Economy amang the ether sSirongest acanomies in the workd is
(o) Fourth (b} Sixih f(c} Fifith (d} Tenth

Mixed coonomy meang
{a) Private sectorsand banks  (h) Co-existence of Public and Privite sectors

() Public sectors and banks  (d) Pubiic sectorsandy

The weakness of Indlan Economy s

(a) Fconemic dispacities (b Mixed cconemy () Dibandsaion

(d) Adeguate employment opportunitics

A aclentific snady of the characteristics of populadonis

la) Topography (b) Demography (¢} Geography (d) Philosophy

The year 1961 is known as ______

(a1 Year of small divide (hy Year of Population Explosion  {c) Year of Urbamndsason
(d) Year of Great Divide

In which vear the populaton of India crossed one billion mark?

(o) 2000 dbp 2000 (ch 2005 {d) 1991

The number of deaths per thowsand of population ts callsd as

(a) Crude Death Rate th) Crude Birth Rate (¢} Crude Tnfamt Rate  (d} Maternal Morealivy Rate

The number of births per thousand population is called as

la) Crode deachrate (b)) Mortality vare (¢} Merbidity rate  (d} Crude bivth rate

Density of population=

(@) Landarea/ Total Population (b Land area ! Employviment

(e} Toval Population | Land area of the region  (d) Total Popularion | Employmment
Whe ntroduced the Natonal Develepment Councl in India?

(@) Ambedkar (b)Y Jawaharfal Nehru (2) Radhakrishnan (d) VER V. Rag
Who amang the following propagated Gandhian Economic thinkings

(@) [awaharlal Nehra (b)) VEEV Rag (¢} JC Kumarappa (d) AKSen
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15. The sdvocate of democratic socialism was

(ad Jawiharkal Nebhra (8} PC Mahalanobis (2} D Rajendra Prasad  #) Indica Gandhi
16. Ambedkar studied the problem in the context of Indian Eeonarmy s

tn) Small land holdings and thelr remedies (b} Problem of Tndian Currency

ich Economics of socializm  (dl Al of them

17.  Gandhian Teonomics is based on the Principle
ia) Soclalistbeidea (h) Ethical foundation (¢) Gopala Erishna Gokhale (d) Dadabhal Naoro)i
18. VE.RV Rao was o stodent of
fa) M. Keymes (b} ColinClark () Adamsmith ) Allred Marskal
19. Amartya Kumara Sen received the Wobel Prize in Economies in the year
(ay 1008 (by 2000 (c) 2008 {d) Z01D
20. thiruvalluvar economic ideas mainly dealt with

(a) Wealth bl Poverty 1s thecurse in the society (2] Agricudiure {d) Al of them

II. Very Short Answer Questions:
21. Write the meaning of Economic Growth
1. A country’s economic growth is usually measured by National Income, indicated by Gross
Domestic Product (GDP).
22. State any two features of developed economy
1. High national income 2. High per capita income
3. High standard of living 4. Full emplovment
23. Write the short note on natural resources
1. Awny stock or reserve that can be drawn from nature is a Natural Resource.
2 The major natural resources are -land, forest, water, mineral and energy.
24. Point out any one feature of Indian Economy.
fredies (0% @ mixed economy :
Int'ian economy is a typical example of mixed economy. This m2ans both private and public
sectars co-cxuct and fanction sraoothiy.
25. Give the meaning of non-renewakie energy
As the name suzgeits, the sources fenrigy which vonnet be renewed or rz-uscd are called non-
rerewable ecergy cources. enal ail. gas ete.

26. Give a short note on Sen’s ‘Choice of Technique’.

Sen’s “Choice of Technique ® was a research work where he argued that i a labour surplus
econonty (like India), generation of employment cannot be increased at the initial stage by the adaptation
of capital-intensive technique.

27. List out the reasons for low per capita income as given by V.ELE.V. Raao.
% Uneconomic holdings with sub-divisions and fragmentation;
% Low levels of water availability for crops;
<+ Excess population pressure on agriculture due to the absence of a large mdustrial sector;
% Absence of capital;

II. Short Answer Questions:
28. Define Economic Development.
1. The level economic development is mdicated not just by GDP. but by an mcrease in citizens’
guality of life or well-being.
2. The quality of life is being assessed by several indices such as Human Development Index
(HDI), Physical Quality of Life Index (PQLI) and Gross National Happiness Index (GINHI).
3. The level of economic development, nations are classified as developed and developing economics
29, State Ambedkar’s Economic ideas on agricultural economics.
* In 1918, Ambedkar published a paper “Small Holding in India and their Remedies™.
* Citmg Adam South’s “Wealth of Nations™. he made a fine distinction between “Consolidation of
Holdngs™ and “Enlargement of Holdings™.
* This paper attempts to deal with the problem of the size of holding it affects agricultural
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PUOGMIIIVIE Y.
30. Write on short note on village sarvodhaya.
<% According to Gandhi, “Real India was to be found in villages and not in towns or cities.”
< So he suggested the development of self- sufficient, self-dependent villages.
< Sarvodaya is a Sanskrit term meaning ‘universal uplift' or 'progress of all'.

31. Write the strategy of Jawaharlal Nehru in India's planning.
4 The Plan was essentially an integrated approach for development.
4 The essence of planning is to find the best way to utilize all resources of manpower, of
money and so on
4 Economic growth on a self- accelerating growth

32, Write the V.EK.R.V.Rao’s contribution on multiplier concept.

# PFao’s examination of the “terrelation between investment. income and nmltiplier in an
under developed economy™.

%+ Dr. Rao argued that whereas a primary increase in mvestment would take place. a subsequent,
secondary and tertiary affects through the expansion of output in the consumption goods
sector would not take place.

++ Consequently, the nmltiplier process would not be operation.

33. Write a short note on Welfare Economics given by Amartya Sen.
1. Sen’'s major point has been that the distribution of income/ consumption among the persons below
the poverty line is to be taken into account.
2. The concept of capabilities developed by Sen has been cited as a befter index of wellbeing than
commodities orutilities.
oo has included the concsyr of entitlement items like nuirttion, Fwoc, medical and hea'th care,
emp loyment, security of food supply in times of famine etc.
34. Explain Socinl watrasttncture,
%+ Social infrastrechire refers to those shiochires wiich are imsiroving v quality of manpower and
contribut: indirec Iy towards the growth o an econnny
<+ These strushies are putsids the system of orohuciicn and dusoribodcs.
%+ The development of these social structures help in increasing the efficiency and productivity of
manpower. For example, schools, colleges, hospitals and other civic amenities.

:....1

IV. Long Answer Questions:

35. Explain strong features Indian economy
Important Strong features of Indian Economy
1. India has a mixed economy

Indian economy is a typical example of mixed economy. This means both private and public
sectors co-exist and function smoothly.
2. Agriculture plays the kev role

Around 60% of the people in India depend upon agriculture for their livelihood. In fact, about 17%
of our GDP today is contributed by the agricultural sector.
3. An emerging market

India has a high potential for prospective growth. This also makes it an emerging market for the
world.
4. Fast Growing Economy

India has emerged as the world’s fastest growing econonty in the year 2016-17 with the growth
rate of 7.1% in GDP next to sChina.
5. Fast growing Service Sector

The service sector. contributes a lion’s share of the GDP in India. There has been a high rise growtt
in the technical sectors like Information Technology, BPO ete.
6. Demographic dividend

The human capital of India is young. This means that India is a pride owner of the maximum
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percentage ol youth.

36. Write the importance of mineral resources in India.

a. Iron-Ore:
India possesses high quality ron-ore m abundance Hematite tron 1s mamly found m Chattisgarh,
Tharkhand, Odisha, Goa and Eamataka

b. Coal and Lignite:
India ranks third in the world after China and USA in coal production. The main centres of coal in
India are the West Bengal Bihar, Madhya Pradesh, Maharashira Odisha and Andhra Pradesh

¢. Banxite:
Major reserves are concentrated in the Fast Coast bauxite deposits of Odisha and Andhra
Pradesh

d. Mica:
India stands first in sheet mica production and contributes 60% of mica trade in the world.

e. Crude Oil:
01l 15 bemng explored i India at many places of Assam and Gujarat.

). Gold
India possesses only a limited gold reserve. There are only three main gold mine regions—FKolar
Goldfield. Hutti Goldfield (both in Karnataka) and Ramgiri Goldfield(Andhra Pradesh).

37. Bring out Jawharlal Nehru’s contribution to the idea of economic development.
A Jawaharlal Nehru, one of the chief builders of Modem India,
4. He was a great patriot, thinker and statesman
4 His views on economics and social problems are found in the innmmerable speeches he made and
in the books he wrote.
Jawgharlal Nehm was a fina believer in democracy.
Seculaism is another significant contribution of Nehm to India.
Tr Jawaharial Hehm the Plin was essentially zn imsgrated approach for dewvelopment.
Jawaharlal Meiv wes resporsiole for e infroducticn of plaunir @ mn otg covamy.
It was during ks petiod, many T1s ond Aesearch Instivtions were established.
Socialism 1s another contnibution of Nehru to India. Nehm's socialism 1s democratic socialism.

R R S S

38. Write a brief note on the Gandhi an economic ideas.

s.no | Gandhian Thought Gandhian Economics is based on ethical foundations.
1. | Village Republics To Gandhi, India lives in villages. He was interested in
developing the villages as self-sufficient units.
2. | On Machinery Gandhi described machinery as “Great sin’.
3. | Industrialism (zandhi considered industrialism as a curse on mankind.
4. | Decentralization He advocated a decentralized econonty,
5. | Village Sarvodava He suggested the development of self-sufficient, self-
dependent villages.
6. | The Doctrine of Trusteeship | Trusteeship provides a means of transforming the
present capitalist order of society into an egalitarian one




10.

11.

12.

13.

14.

15.

16.

UNIT 8 Indian Economy Before and After Independence
Multiple Choice Questions.

The arrival of Vazco da Gama in Calicot, Tndis

(a) 1998 (b) 1948 ] I16BS (d) 1843
[n 1614 Sir Thomas Boe was successful in getting permission from
(i) Akbar (b Shajakan {c) Jahangic (di Noorjakhan

The power for governance of India was transferred from the Enst India Company {EIC) to the British crown in

fa) 1758 (b) 1858 fc) 1958 (d) 1658

Ryotwari system was initially introduced in

(a) Kerala (b} Bengal {c) Tamil Madue (d) Maharastra

First World War started in the year __.

(al 1914 (b1 1834 {c) 1941 (d) 1841

When did the Government of India declaved L first Indusieial Palicy?

fa) 1956 (b} 1991 (c) 1948 (d) 2000
The objective of the Tndustral policy 1956 was

(a} Develop heavy Industries (b} Develop agrleulural sector only (e} Develop private sector anly
() Develop cottage industries only

The Industry which was de-reserved in 19937

(a) Rallwaya (b} Mining of copper and zine (o) Atomicenergy (d) Atomie minerals
The father of Green Eevolution in Indis was

(a2} M5 Swaminathan (b] Gandhi (0) Visweswaraiah (d) NE Viswanathan

How many commercial banks were nationalised in 19697

() 10 (b} 12 {c) 14 (d) 16

The main objective of nationalisution of banks was

(x) Private soclal welfare (b} Soctal welfare (2} To earn profit  (d) Industries monopaly
The Planning Commission was setup in the year

it} 1950 (bl 1355 {c) 1950 &d) 1952

In the first five yvear plan, the top priocity was given 1o _ Sector

{al Service (b) Industrial (e} Agriculture (4] Bank

Tenth five year plan period was

(&) 19921997 (L) 20022007 (&) 2007 -2012 (d) 19972002

Aecording w HDR (20460, Tndia ranked _ outof 158 courntries

()} 1300 (b) 131 fc) 135 (d) 145

Anmual plans formed in the year _

(a) 198%-1991 () 1990-1992 () 2000 -Z000 (d) 1981-19R3




17. rhe Oldest large scale industry in India
(a) cotton (b) jute (c) steel (d) cement
18. rhe 14 banks were nationalized in the year
{a) 1935 (b) 1956 (c) 1969 (d) 1959
19. rhe main theme of the Twelth Five Year Plan
(a) faster and more inclusive growth (b) growth with social Justice ({c) socialistic pattern of society
(d) faster, more inclusive and sustainable growth
20. rhe PQLI was developed by

(a) Planning Commission (b) Nehru (c) Morris (d) Morris D. Biswajeet

II. Very Short Answer Questions:
21. What are the Phases of colonial exploitation of India?

4. Period of merchant capital
4. The period of industrial capital and
4. The period of finance capital

22. Name out the different types of land tenure existed in India before Independence.
1. Zamindari system
2. Mahalwari system
3. Ryotwari system

23, State the features that distinguish a land tenure system from other system.
* Who owns the land -
¥ Who cultivates the land:
¥ Who is responsible for paying the land revenue to the government.

24. List out the wealknesses on Green Revolution.
% Indian Agriculture was still a gamble of the monsoons.
% This strategy needed heavy investment in seeds, fertilizers. pesticides and water.
< The income gap between large,
< Widespread unemplovment among agricultural labourers in the rural areas.
25, What are the objectives of Tenth five vear plan ?
Main Objectives 5™ FYP (2522.2907)
1. Tois plan oimer. to double the per capita incote of Lidia i the next 10 veas.
2. Tt aimed fo seduce the poverty ratio o 15%, by 2012,
3 Tts growth taret was 8.0% tat & achieved calv 7.2%.

26. What is the difference between HDI and PQLI ?

Points PQaLl HDI
Maaning it refers to overall well being of | It refers to composite measure of
pecple economic & social progress to find
out the quality of human life
Madea by Meorris D.Morri= in 1978 Mahabub — ul — Hag in 19820 for
| UNDP
Based on POLl is based on HDI is based on
a} Life expectancy indicator a) Life expectancy indicator
b} Infant mortality indicator | b) Educational attainment indicator
c) Basic Literacy indicator l <) Standard of Living indicator

27. Mention the indicators which are used to calculate HDI.
1. Life expectancy at birth 2. Adult iteracy rate
3. Gross Enrollment ratio 4. GDP Percapita (PPPUS §)
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Ill. Short Answer Questions:

28. Explain about the Period of Merchant Capital.

The period of merchant capital was from 1757 to 1813.

The only aim of the East India Company was o earn profit.

India had been considered as the best mnting ground for capital by EIC

The company admunistration succeeded in generating lmge surpluses which were repatriated to
England.

el 7 e

29. The Handicrafts declined in India in British Period. Why?
¥ Through discriminatory tariff policy, the British Government purpesefully destroyed the
handicrafts.
¥ With the disappearance of nawabs and kings, there was no one to protect Indian handicrafts.
¥ Indian handicraft products could not compete with machine-made products.

¥ The introduction of railways in India increased the domestic market for the British goods.

30. Elucidate the different types of land tenure system in colonial India.
# Zamindari System or the Land lord-Tenant System
Zamindars were declared as the owners of the land and they were responsible to pay the land

revenue to the government.
# Mahalwari System or Communal Svstem of Farming
The ownership of the land was maintained by the collective body usually the villagers
which served as a unit of management.
% Ryotwari System or the Owner-Cultivator System
Under this system the ownership rights of use and control of land were held by the tiller himself

31. State the reasons for nationalization of commercial banks.
% The main objective of nationalization was te attain social welfare.

¥ Natiomalisation of banks helped to curb private monopolies

# Needed to encourage the banking habit among the rural population

¥ To reduce the regional imbalances where the banking facilities were not available.
¥ Credit facilities mainly to the agriculture sector and its allied activities

32 YWrito any three objectives i [ndustrial Policy 1991,
Ohjectives:
* Fedoce dunartties in meom: and weslth
*+ Higher employmeut generation
* Focus on deve opment of spiall =22k sector
* Rural mdustializetion
33. Give a note on Twelfth Five Year Plan.
1. Its main theme is “Faster. More Inclusive and Sustamable Growth™.
2. Its growth rate target is 8%.
Major Objectives:
<+ For growth to be more inclusive we need: Better performance in agricultural
< Faster creation of jobs, especially in manufacturing
< Stronger efforts at health. education and infrastructure
34 What is PQLI ?
= Morns D Morms developed the Physical Quality of Life Index (PQLI).
% The PQLI 5 a measure to calculate the quality of life (well being of a country).
% For this, he included three indicators such as life expectancy, infant mortality rate and literacy
rate.
% A scale of each indicator ranges from the number 1 to 100

IV. Long Answer Questions:

35. Discuss about the Indian economy during British Period.
On the basis of the form of colonial exploitation economic historians have divided the British

period info three phases: namely,
1. The period of merchant capital
2. The period of industrial capital
3. The period of finance capital




Perinds under British Rule | Periad State of Indian Economy
Il & 4. Aim of the East India Company was
Feriod of merchant capital From to camn profit
1757 1O 5. The best hunting ground for capital
1813 6. The officers of the company were
unscrupitlous and corrupt.
4. India had become a market for British
From textiles.
1813 5. Indians were exploited
Period of Industrial Capital B. Indin's traditional handicrafts were
To 1858 !
thvown out of geal
4. Finance imperialism began to
entrench isell
From 5. Bntam decided to make massive
1558 investments i various fickds
Period of Finance Capiial To 6. Railway construction policy of the
British led w0 unimaginable as well
1947

a5 Wneconomic.

36. Explain the role of S5Is in economic development?
1. Provide Employment
S5Is uselabour intensive techmiques. Hence, thev provide employment opportunities fo a large
fuiper of people.
2. Bring Balanced Regional Development
S5Is promote decentralizad developrent of infusinies a5 rawst of the 551s aie sof vp 1 backoward
and rusai aneas.
3. Help in Mobilizaticn of Local Resources
S5Is help to mu-bilize and vhilize b2l sesovroes like snall =50ines, entreprensns 4al tolent ete |
4. Pave for Optimisation of Capital
S5Is require less capital per unit of output. They provide quick return on investment
5. Promote Exports
S5Is do not require sophisticated machinery there is a great demand for goods produced by
S5Is in international market.
6. Develop Entrepreneurship
5515 help to develop a class of entrepreneurs in the society

37. Explain the objectives of nationalization of commercial banks.
A The main objective of nationalization was to attain social welfare.

A Nationalisation of banks helped to curb private monopolies in order to ensure a smooth supply of
credit

A To encourage the banking habit among the rural population.

A To reduce the regional imbalances where the banking facilities were not available.

A After nationalization. new bank branches were opened in both rural and urban.

A Credit facilities mainly to the agriculture sector and its allied activities

38. Describe the performance of 12th five vear plan in India.
=3 Tts main theme is “Faster, More Inchisive and Sustainable Growth”.
=» Its growth rate target is 8%.
Major Objectives:
* For growth to be more inchisive we need; Better performance in agriculiure
#* [Faster creation of jobs, especially in mamifacturing
* Stronger efforts at health. education and infrastructure.
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*  special plans for disadvaniaged'Dackward reguons

Major Achievements (Performance of 121 Five Vear Plan)

L
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1‘1‘ 1*1‘ 1‘1‘ 'l*l‘

Implementation of Pandit Madan Mohan Malaviya National Mission on Teachers & Teaching.
Uchchatar Aavishkar Abhivan programme to promote industrv-specific need-based research.
The National Mission on Education through Information and Commminication Technology for
making the best use of ICT

Rashinva Uchchatar Shiksha Abhivan (RUSA) has been approved which aims to achieve equity,
access and excellence in higher education

Free and compulsory education o all children in the age group of 6 to 14 years

Construction of school toilets under Swachh Vidyalay initiative

Implementation of Udaan programme to ensure quality education for girl child

Padhe Bharat Badhe Bharat initiative to increase learning outcomes in children
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UNIT 9 Development Experiences in India
Multiple Choice Questions.

1. whichof the following is the way of privatisation?

10.

11.

12.

13.

14.

(a) Disinvestment (b) Denationalization (c) Franchising (d) All the above
Countries today are to be __ for their growth.

(a) Dependent (b) Interdependent (c) Freetrade (d) Capitalist

The Arguments against LPGis__

(a) Economic growth (b) More investment (c¢) Disparities among people and regions
{d) Modernization

Expansion of FDI___

(a) Foreign Private Investment (b) Foreign Portfolio (c) Foreign Direct Investment
(d) Forex Private Investment

India is the largest producer of _ in the world

{a) fruits (b) gold (c) petrol (d) diesel

Foreign investment includes_

(a) FDIonly (b) FPIandFFI (c) FDIand FPI (d) FDIand FFI

The Special Economic Zones policy was announced in____

(a) April 2000 (b) July 2000 (c) April1980 (d) July 1570

Agricultural Produce Market Committeeisa__ .
(a) Advisory body (b) Statutory body (c) Both'a’and b’ (d) None of these

Goods and Service Taxis

(a) amulti point tax (b) having cascading effects (c) like Value Added Tax

(d) asingle point tax with the cascading effects

The New Foreign Trade Policy was announced in the year ___

(a) 2000 (b) 2002 (c) 2010 (d) 2015

Financial sector reforms mainly related to____

(a) Insurance sector (b) Bankingsector (c¢) Bothaandb (d) Transport sector

The new economic policy is concerned with the following
(a) Foreign investment (b) Foreigntechnology (c) Foreign trade (d) All the above

The recommendation of Narashimham Committee Report was submitted in the year___
(a) 1990 (b) 1991 (c) 1995 (d) 2000

The farmers have access to credit under Kisan credit card scheme through the following except__

(a) Co operative banks (b) RRBs (c) Public sector banks (d) Private banks
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15.

16.

17.

18.

19.

20.

| The Baja Chelliah Committee on Trade Policy Reforms suggested the peak rate on mport duties at___.
fa) z5% (b) 0% [} G050 (d) 100%

The first ever SEE in India was set up at

(@) Mumbai (b) Chennai (¢} Kandla {d) Cochin

The Hindu Bate of Growth' coined by Raj Erishnag refers to ;

a) Low rate of eeonomic growth (k) High proportien of Hindy populatlon () Stable GDF  (d] Nans

The highest rate of tax under G318 [as on july, 2017),

(a) 18% (b) 24% (e} 28% | (d) 320
The transfer of ownerzhip from pablic sector Lo private sector is known as
(a) Globalizatien (bl Liberalizaten (¢} Privatization (d} Natdenalization

The Goods and Services Tax Act come into effect on

(a) 1%t July 2017 (b) 1% July 2016 (c) 1%t January 2017 (d) 1% January 2016

IL. Very Short Answer Questions:

21. Why was structural reform implemented in Indian Economy?
Indian economy responded to the crisis by infroducing a set of policies known as Struchural Reforms.

22, State the reasons for implementing LPG.
Basic reasons belind liberalization, privatization could be summarized as nations believe  that
olnhalization and nation - states ars 10t in contradiction.

23. Siate the meaning of Privatiz:tion.
Privatization meane transfer of cwnership and maaagenynt »f enterprises: from publy: sector o
arivate sector.

24. Define disinvesimernt
Disinvestment means selling of government securities of Public Sector Undertakings (PSUs) to
other PSUs or private sectors or banks.

25. Write three policy initiative introduced in 1991 — 92 to correct the fiscal imbalance.
% Reduction in fertilizer subsidy
< Abolition of subsidy on sugar
% Disinvestment of a part of the government holdings

26. State the meaning of Special Economic Zones.
A special economic zone (SEZ) 1s an area in which business and trade laws are different from the
rest of the country. and their aims mchide: increased trade. mereased investment, job creation

27. State the various components of Central sector schemes under post - harvest measures.
The ministry of food processing Industries (MOFPT) has implemented various components of central
sector schemes, namely :

(i) Mega Food Parks (ii) Scheme for Quality Assurance.

M. Short Answer Questions:
28. How do vou justify the merits of Privatisation?
%+ Helps in reducing the burden on government.
< Makes the public sector units competative.
< Greater automomy for public sector units.
<+ Industrial growth
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29, What are the measures taken towards Globalization?
“Globalization refers fo the integratfion of the domestic (Indian) economy with the rest af the world”
Measures of globalization
=» Import liberalization through reduction of tariff and non-tariff barriers,
=» opening the doors to Foreign Direct Investment (FDI) and Foreign Portfolio Investment (FPT) are
some of the measures towards globalization
=» The economic activity of multinational firms and the infernationalisation of technology.

30. Write a note on Foreign investment policy?
Red carpet welcome to foreign investment and foreign technology Enhanced the industrial competition
and improved tusiness, including FDI and FPI were allowed Automatic permission was granted for a
specified list of high-technology and high- investment priority industries

31. Give short note on Cold storage.
=» India is the largest producer of fruits and second largest producer of vegetables in the world.
= Most of the problems relating to the marketing of fiuits and vegetables can be traced to their
perishability.
= In order to overcome this constraint, the Government of India and the Ministry of Agriculture
pronmilgated an order known as “Cold Storage Order, 19647

32. Mention the functions of APMC.
%+ To promote public private partnership in the ambit of agricultural markets.
<+ To provide market led extension services to farmer.
%+ To bring transparency in pricing system and transactions taking place in a transparent manner.
< 'Lv promote agricultural activities.
33. List out the fratuces of neww trade paticy.
2 :ree impoeits 2nd exports: Proric 1901 in India itaports were regulaed. Trom 1002 imports
were regrizied v a limited negative list
= Rartionalizadon of tasifi ztraciove and resaoval of quanidisive restrictions
4 Free imports and exports
4 Reducing tariffs
4 Liberalization of the exchange rate regime

34. What is GST? Write its advantages.

“Goods and Services Tax (GST) is defined as the tax levied when a consumer buys a good or service”

= The Act came into effect on 1st July 2017 The motto is one nation, one market, one tax.
Advantages

» Removing cascading tax effect

» Single point tax

» Higher threshold for registration

» Composition scheme for small business

IV. Long Answer Questions:

35. Discuss the important initiatives taken by the Government of India towards Industrial
Policy.
Meaning of Industrial Policy:
4 Any government action aimed at affecting industry may be considered to be part of industrial
policy, which makes it a linutless field.
%+ It usnally means government action to influence the ownership and structure of industry and its
performance, paving subsidies or providing finance, or of regulation
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Indusirial Policy Important Initatives

I. It ushered india as a the system of mxed economy.

Industrial Policy 2. Industries were classified into four groups such as
Resolutions 1948 public sector, public—cum —private Sector, controlled private
sector, private and co-operative sectors.

3. This policy endeavoured to protect cottage and small

scale mdusiries.
1. Tt assured a fair treatment to the private sector
Industrial Policy 2. Support and encourage cottage and small scale
Resolution 1956 enterprises

3. Indianisation of foreign concerns

1. Industrial licensing will be abolished for all projects except

The New Industrial for a short list of industries
Policy of 1991 2. The policy provides for automatic clearance for import
of capital goods

36. Explain the objectives and characteristics of SEZs.
Meaning of Special Economic Zones.
1. A special economic zone (SEZ) is an area in which business and trade laws are different from
the rest of the country.
2. SEZs are located within a country's national borders, and their aims include: increased trade,
increased investment, job creation and effective adnunistration
Maior Oihjectives of SEZs
A To enhance foreign investment (especially FDI)
A To increase share=s in Global Eaport
A To gensiate udditicn:l economic activity.
4 To create emmicyment cpportunitis.
A To develop infrastzuctrre facilities
Mam Characterisiics of SEZ
1. Geographically demarked area with pliysical security
Administrated by single body/ authority
Streamlined procedures
Having separate custom area

Governed by more liberal economic laws.

W1 e b el

37. Describe the salient features of EXIM policy (2015 — 2020)

1. Reduce export obligations by 253% and give boost to domestic mamifacturing supporting the
“Make in India™ concept.

2. As a step to Digital India concept, online procedure to upload digitally signed document by
CA/CS/Cost Accountant are developed and firther mobile app for filing tax stamp duty has been
developed.

3. Repeated submission of physical copies of documents available on Exporter Importer Profile is
not required.

4. Export obligation period for export items related to defence, military store, aerospace and miclear

energy to be 24 months.
EXIM Policy 2015-2020 1s expected to double the share of India m World Trade from present
level of 3% by the year 2020. This appears to be too ambitions.
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10.
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12.

13.

14.

15.

UNIT 10 Rural Economy
Multiple Choice Questions.

Which is considered as the basic unit for rural areas?
(a) Panchayat (b) Village (¢) Town (d) Municipality

Which feature is identified with rural areas?

(a) Low population density (b) High population density (c) Low natural resources

(d) Low human resources

Identify the feature of rural economy
(a) Dependence on agriculture (b) High population density (c) Low level of population

(d) Low level of inequality

What percentage of the total population live in rural area, as per 2011 censes?

(a) 40 (b) 50 (c) 60 (d) 70

How do you term people employed in excess over and above the requirements?

(a) Unemployment (h) Underemployment or Disguised Unemployment (c) Full employment

(d) Self employment

What is the term used 1o denote the copxdstence of two different sectors in an economy?

(a) Technology (k) Dependency () Dualism  (dy Inequallty

The process of impreving the moral areas, roral people and rural dng 5 defined as

(al Fuoral economy (bl Bural economics (0] Bural employment  (d) Bural develogmeni
Identify the agriculfure related probdem of rural seanomy

(a) Poor communication (b Small size of landhelding () Rural poverty (di Poor banking network
The recommended nutritional in take per person in nural areas

(a) 2100 calories (b} 2000 calories (c) 2300 calories  €d) 2400 calories

Indicate the cawse for rural poverty

(a) Lack of non - farm employment . (b) High employment (¢} Low infladon rage

id) High investment

What i3 the other name for concealed ynemployment?

(a) Open (b} Dispwised (c] Seasonal (d) Bural

Honey do you term the employment occurming only on a particalar season?

(&) Open (b)) Dusguised (c) Seasonal (dY Hural

Identify an exampde for rural indwsicies?

G) Sugar foctory (b Mat making industry  (¢) Cement industry  (d) Paper induostry
How much share of rurel families in India is in debt?

() Hall (0 Omefowrth () Twothicd  {d) Three foorth

Identily the cause for purdl indebtedness Lo India

(a) Poverty () High population {20 High productivity  (d) Full employment
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16. In which year, Regional Rural Banks came into existence?
(a) 1965 (b) 1970 (c) 1975 (d) 1980

17. 1dentify the year of launch of MUDRA Bank?
(a) 1995 (b) 2000 (c) 2010 (d) 2015

18. dentify the year in which National Rural Health Mission was launched
(a) 2000 (b) 2005 (c) 2010 (d) 2015

19. Identify the advantages of rural roads.

(a) Rural marketing (b) Rural employment (c) Rural development (d) All the above
20. rAnIndian farmer is born in debt, lives in debt, dies in debt and bequeaths debt” - who said this?

(a) Adam Smith (b) Gandhi (¢) Amartyasen (d) Sir Malcolm Darling

21. Define Rural Economy.
< Rural areas are geographical areas located outside towns and cities.

% Rural economy refers to villages, and rural community refers to people living in villages.
22. What do you mean by Rural Development?
=  Rural Development is a strategy designed to improve the econonmuc and social life of a specific
group of people - nwal poor”.
= In short, nural development is a process of improving the rural areas, rural people and mral
living.
23. Rural Poverty — Define.
Poverty in India has been defined as the situation in which an individual fails to earn sufficient
mcome to buy the basic mintmum of subsistence.
24. Define Open Unemplovment.
1. In Open Unemployment, unemployed persons are identified as they remain without work.
2. This type of unemployment is found among agriculiural labours.

25. What is meant by Disguised Unemployment?
In Rural areas, many are emploved below their productive capacity and even if they are withdrawn
from work the output will not diminish. It 15 called Unemployment

26. Define Cottage Industry.
Cottage industries are generally associated with agriculiure and provide both part- time and full-time
+ohe in miral areas. Examples: Poiiery, Basket Weaving, Coir products and eic,

27. What do you mean by Micro Finance?
Micro firance, alsy known as meore oredit, 15 a finaucial service that offers loans, savicgs and
msurance to ertieprelerss and small brsmess owners who de oot lave access fo mad tionzl sources
of capital like banks or rwvestors.

2a. Stare any two causes of housing probiem lu Mrai areas.

#  Rapid adaptation of nuclear families

Lack of proper water supply

Lack of good sanitation and

Lack of proper disposal of sewage

YV ¥ VY
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29, Define Rural Electrification.
The main aims of rural electrification are to provide electricity to agricultural operations and to
enhance agriculiural productovity,

30. State any two factors hindering Rural Electrification in India.
1. Lack of Funds

2. Inter-state Disputes

3. Uneven Terrain

4. High Transmission Loss

HI. Short Answer Questions:

31. State the importance of Rural Development.

1. A major share of population contributions are very much supportive for the nation building activities.
2. The rural economy supports the urban sectors

3. Improvements in education health and sanftation in villages can help avoid many urban problems

4. providing gamful emplovment in mural areas and improving overall food production.

5. mural-urban migration can be reduced

31, Explain the causes for rural development.

% The distribution of land 1s highly skewed in rural areas.

% Non-farm employment opportunities do not match the immcreasmg labour force.
% Lack of public sector investment on human resource development.

% Steadv increase in prices affects the purchasing power

< Low productivity of rural labour

33. Enumerate the remedial measures to Rural Poverty.

(i) Creation of employment opporiunities.

(ii) To help the poor to become more productive.

(iii) Necessary changes in the economic structure as well as occupational structure.

(iv) Control the unproductive expenditures by villagers.

(v) Effective implementation of assets.
34. What are the remedial measures for Rural Unemployment?
1. To reduce the seasonal unemployment mural people should be encouraged to adopt subsidiary
occupations.
2. Rural Works Programme such as construction and maintenance of roads. digging of drains, canals, etc
3 _The increased cropping intensity creates additional demand for labour.

4 To provide employment new mdustries should be set up in rural areas.

35. Write a note on Regional Rural Banks.

1. Regional Rural Banks came into existence in 1975,
At present, there are 64 Fegional Rural Banks in India.
Tn d=velop miral economy L providing credit and,
Oriher facilities particularly to tae small and margmal farmers. agricultural labowrers, artisans and
soall entreprenzurs
36. Mention the jcatwres of SHGs.
1. SHG is generally zn eccnomically horwgencons group formed through o process of self -selection
buscd upon the atifinicy of its menibers,
2. Most SHGs are women's groups with membership ranging between 10 and 20.
3. SHGs have well-defined mles and by-laws, hold regular meetings and maintain records and savings
and credit discipline.
4. SHGs are self-managed institutions characterized by participatory and collective decision making.
37. List out the objectives of MUDRA Bank

1. Eegulate the lender and the borrower of microfinance

2. bring stability to the microfinance system .

3. lend money to small businesses, retailers, self~help groups and indmviduals.

4. infroduce a system of performance rating and accreditation for the first fime.

o
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IV. Long Answer Questions:
38. The features of Rural Economy are peculiar’-
Argue.
Meaning
Fural economy refers to villages, and rural community

refers to people living in villages. Village is an Institution:
The Village is a primary institution and it satisfies almost all
the needs of the miral commminity.
1. Dependence on Agriculture: The rural economy depends

mch on nature and agricultural activities.
3. Life of Rural People: Lifestyles in villages are very
simple.

o
e —1
e

Pabhic services like education, housing, Tiealil and samtation, iransport and comMmcanon banking. roads
and markets are limited and unavailable.

4. Population Density: Population density, measured by number of persons living per sq. km is very
low and houses are scattered in the entire villages.

5. Emplovment: Exists unemployment, seasonal unemployment and underemployment in rural areas.

6. Poverty: About 22 crores of people in rural areas are poor and live below the poverty line.

39, Discuss the problems of Rural Economy.

1. The problems related to mdividuals and their standard of living consist of illiteracy efc.,

2. Agnicultural problems as 1.Lack of expected awareness, knowledge, skill and atfitude,
Unavailability of inputs and so on.

3. Poor infrastructure facilities like, water, electricity, transport, educational institutions.
communication. health and etc..

4 The economic problems related to miral areas are: mability to adopt high cost techmology, high
cost of inputs and so on

5. Leadership among the hands of nactive and incompetent people, self-interest of leaders.

40. Analyse the causes for Rural Indebtedness.
Meaning
Fural indebtedness refers to the situation of the rural people unable to repay the loan accunmlated over
a period.
1. Poverty of Farmers:

The vicious circle of poverty forces the farmers to borrow for consumption, culitvation and
celebrations. Thus, poverty, debt and high rates of inferest hold the farmer in the grip of money lenders.

2 Failure of Monsoon:

Frequent failure of monsoon 15 a curse to the fairmers and they have to suffer due fo the fadure of
mature Therefire, farmers find # difficult fo identify gecd vears te ropay their debts.
3. Litrgarisu:

Dmie to lard dispnres litigation o the court compels toem ic bormow heavily, Peamnr ineducited
and igaorant the's are canzht i the Ltigration procese and dry avra 7 their svings and rescurces.
4. Money Lenders and High Karte of Interest:

The rate of mnferest charged by the local money lenders is very high and the compoundmg of
interest leads to perpetuate indebitedness of the farmer.
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UNIT 11 Tamil Nadu Economy

In health index, Tamil Nadu is a head of-—-——-
(a) Kerala (b) Punjab (¢) Gujarat (d) All the above

In sex ratio, Tamil Nadu ranks ——

(a) first (b) second (c) third (d) fifth

Tamil Nadu is rich in -——-
(a) Forestresource (b) Human resource (c) Mineral resource ({d) Al the above
The main source of irrigation in Tamil Nadu is -
{a) river (b) tank (c) well (d) canals

Knitted garment production is concentrated in
(a) Coimbatore (b) Tiruppur (c) Erode (d) Karur

Which of the following is wrongly matched?
(a) Gateway of Tamil Nadu - Thoothukudi (b) Home textile city - Erode () Steel city - Salem
{(d) Pump city - Coimbatore

Which of the following cities does not have international airport?
(a) Madurai (b) Tiruchirappalli (c¢) Paramakudi (d) Coimbatore

TN tops in the production of the following crops except
(a) Banana (b) Coconut (c) Plantationcrops (d) Cardamom

Largest area of land is used in the cultivation of
(a) Paddy (b) Sugarcane (¢} Groundnut (d) Coconut

In literacy rate, TN ranks
(a) second (bh) fourth (c) sixth (d) eighth

In investment proposals filed by MSMEs, TN ranks
(a) I MO (c)II (d) IV

Which district in TN has the highest sex ratio?
(a) Nagapattinam (b) Nilgiris (c) Tiruchy (d) Thanjavur

Which district has the lowest child sex ratio?
(a) Madurai (b) Theni (c) Ariyalur (d) Cuddalore

Which Union Territory has the highest sex ratio?
(a) Chandigarh (b) Pondicherry (c) Lakshadeep (d) Andaman Nicobar
The largest contribution to GSDP in Tamil Nadu comes from ———
(a) agriculture (b) industry (c) mining (d) services

In human development index, TN is ranked

(a) second (b)) fourth (c) sixth (d) seventh
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17 EPIC is located in

{a} Chennat (b} Madurai {c) Tuticorin {d] Padukkotial

18

The TICEL park i=
{a) Rubber park  (b) Textide park  (cF Food park )y Bio park
19. T Imadia's votal cemment production, Tamil Madu ranlks

ad thimd (b furth ) Ges  (db second
e Headouarters of Southern Railway is al

20.

() Tiruchirappalli (b)) Chenmad () Madurad  (d) Coimbatore

II. Very Short Answer Questions:
21. State any two districts with favorable sex ratio. Indicate the ratios.

S No | District Sex Ratio (No. of Females per 1000 Males)
1 The Nilgiris 1041
2 Thanjavur 1031
3 Nagapattinam 1025
4 Tinmelveli 1024
5 Thootikludi | 1024
Source : Census of India, 2011

22. Define GSDP.

1. The Gross State Domestic Product refers to the total money value of all the goods and services
produced annually in the State.

2. Tamil Nadu is the second largest economy (GSDP) in India

23, Mention any four food crops which are favourable to Tamil Nadu.
1. Rice, 2. Kambu, 3. Com, 4 Groundnt, 5 Oil Seeds 6. Sugarcane

24. What are major ports in Tamil Nadu?
Tamil Nadu has three major ports, - Chennai Emmore, and Tuticorin

25. What is heritage tourism?
“Heritage tourism is traveling to experience the places, artifacts and activities that authentically
represent the stories and people of the past and present. It includes cultural historic, and natural
resources.”
26. What are the nuclear power plants in Tamil Nadu?
The Kalpakkam Nuclear Power Plant and the Koodankulam Nuclear Power Plant are the major
miclear energy plants for the energy grid.
27. Define Micro industry
The guidelines with regard to investment in plant and machinery or equipment as defined in the
MSMED Act, 2006 are: Enterprise with a capital investment, not exceeding 25 lakhs is called micro
industry

II. Short Answer Questions:
28. Write a note on mineral resources in Tamil Nadu.
4 Tamil Nadu has a few mining projects based on Titanium Lignite, Magnesite, Graphite,
Limestone, Granite and Bauxite.
4 The first one is the Neyveli Lienite Corporation that has led development of large industrial
cornpi=x around Neyveli in Cuiddalore district with Thermal power plaris.
A Magneiite minang 15 at Sxiepl from winch mining of Baurdi- ores are corried oo af Yercaod and
iinz region 15 also rich in Iron Chre of Kargamalal

29, Explain GSDP in Tamil Nadu.
= 1amil Nads 15 the second largest economy m india with a G50 of 3 2/ 8 bilion m 2616-17
according to the Directorate of Econonucs and Statistics, Tanul Nadu.
* The GSDP of Tamil Nadu is equal to the GDP of Kuwait on nominal term and GDP of UAE on
PPP terms.
* The GSDP of Tamil Nadu is far higher compared to many countries as shown below. This is
mainly due to population effect.
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30. Describe development of textile industry in Tamil Nadu.
1. Tamil Nadu is the largest textile hub of India.
2. Tamil Nadu is known as the “Yarm Bowl” of the country accounting for 41% of India’s cotton
yarn production.
3. Employment to an estimated 35 million people
4. The textile sector contributes to 14% of the mammfacturing sector.

31. Compare productivity of any two food crops between Tamil Nadu and India.
1. The Government of Tamil Nadu lays emphasis on agricultural production and productivity.
2. Asaresult, Tamil Nadu tops in productivity, in food crops as well as non-food crops, among the
States in India.
32, Explain the prospect for development of tourism.
1. Tamil Nadu has since ancient past been a hub for tourism. In recent years. the state has emerged
as one of the leading tourist destinations for both domestic and foreign tourists.
2. The State currently ranks the highest among Indian States with about 25 crore arrivals
3. Approximately 28 lakh foreign and 11 crore domestic tourists visit the State.

33. What are the renewable sources of power in Tamil Nadu?
1. Hydel Energy _
There are about 20 hydro electric units in TamilNadu. > ."'-.’ﬂlt
The prominent units are Hundah Mettur, Perivar, - -;
Maravakandy, Parson Valley etc. o
1. Solar Energy *r (
Southern Tamil Nadu is considered as one of the most M 7
suitable regions in the country for developing solar

pOWer projects. ,...'r',;.L;'m. \}
3. Wind Energy ey
Tamil Nadu has the highest installed wind energy i<

capacity in India. The State has very high quality ot v Bl
of off shore wind energy.

34. Describe the performance of Tamil Nadu economy in health.
= Tamil Nadu has a three — tier health infrastructure comprising hospitals, primary health centres,

health units, community health centres and sub-centres.
= As of March 2015, the State had 34 district hospitals, 220 sub-divisional hospitals, 1,254 primary
health centres, 7.555 Sub-centres and 313 comnminity health centres.

IV. Long Answer Questions:
35. Describe the qualitative aspects of population.
Meanmg
Quantiiative aspects inchide composition, density, distribution growth movement, size, and
struzture of'the population
1. Sex ratio (Nizizber of feinale per 1000 inalzs)
Balanced sex ratio mplie: inmrovement o gality of life of forale population. The sex catio in
Tanil Nadu 15 veariag balance with 525 wiuch is {5 befter compares o mosi of the Staies and all
India level.
. Infant Mortality Rate (mortality before completing 1 year)
. Maternal Mortality Rate (MME) (Mother’s death at the time of delivery per 1 lakh)
. Life Expectancy at birth The average period that a person may expect to live is called life
expectancy.
. Literacy The literacy rate of Tamil Nadu is higher than in many States.

da Lo 2

o
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36. Explain the various sources of energy in Tamil Nadu.

Tamil Nadu tops in power generation among the sowthern States

Tamil Nadu is in the forefront of all other Indian States in installed capacity.

There are about 20 hydro electric units in Tamil Nadu.

The Kalpakkam Nuclear Power Plant and the Koodankulam Nuclear Power Plant are the

major miclear energy plants for the energy grid.

<+ The thermal power plants are at Athippattu (North Chennai) Ennore, Mettur, Neyveli and
Thoothukudi.

<+ Tamul Nadu has the highest installed wind energy capacity in India.

LI <

37. Explain the public transport system in Tamvil Nadu.
Tamil Nadu Public Transport System
Tamil Nadu has a well established transportation system that connects all parts of the State.
a. Road: There are 28 national higlhvways in the State, covering a total distance of 5,036 km. It ranks
second in India with a share of over 20% in total road projects under operation.

b. Rail: Tamil Nadu has a well-developed rail network as part of Southern Railway, Headquartered at
Chennai Tamil Nadu has a total railway track length of 6,693 km and there areG20 railway stations in
the State.

d. Ports: Tanul Nadu has three major ports; one each at Chennai, Ennore, and Tuticorin, as well as one

intermediate port in Nagapattinam and 23 minor ports.
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UNIT 12 Mathematical Methods for Economics
I.  Multiple Choice Questions

1. Mathematical Eeonomics is the integrition of

(a} Mathematics and Economics (b} Economics and Statistics (o} Economics and Equations
{d) Graphs and Economecs

2, The construction of demand line or supply line is the result of using

(i)} Mairices (b) Caleulus (¢} algebra (d)y Anabytical Gesmetry
3. The first persan used the mathematics in Economic is
(2 SirWilliam Petty (b Giovanni Ceva () Adam Smith  (d) Irving Fisher
4. runction with single independent variable is Known as
(a) Multivariate Functon (b1 Bivariate Function  €c) Univariate Function  (d) Polynomial Function
5. A statement of equallty between two quantites b5 called
() Ineguality (b)) Eguality (¢} Equations  (d) Tanetions
6. Anincremental change in dependent variable with respect to change in independent variable is known as
(i)} slope {b) [nteccept (¢} Variant (d) Comstant
7. | (y-y1)=M(x-x;) gives the
(a) Slope (b) Straightline (c) Constant (d) Curve
8. Suppose D=50- 5P when D is zero then
(a) Pis10 (b) Pis20 (c¢) Pis5 (d) Pis-10
9. Suppose D = 150 - 50P. Then, the slope is
{(a) 5 (b) 50 (c) 5 (d) -50
10. uppose determinant of a matrix A =0, then the solution
(a) Exists (b) Does not exists (c) isinfinity (d) is zero
11. stateofrestisa point termed as
(a) Equilibrium (b) Non-Equilibrium (¢) Minimum point (d) Maximum point
12. pifferentiation of constant term gives
(a) one (b) zero (c) infinity (d) non-infinity
13. Differentiation of X" is
(a) nx®  (b) nx™ (c) zero (d) one
14. rFixed cost is the __ term in cost function represented in mathematical form
(a) Middle (b) Price (c¢) Quantity (d) Constant
15. The first differentiation of Total Revenue function gives

(a) Average Revenue (b) Profit (c) Marginal Revenue (d) Zero




16. rhe elasticity of demand is the ratioof _
(a) Marginal demand function and Revenue function
(h) Marginal demand function to Average demand function (c) Fixzed and Variable revenues
{d) Marginal Demand function and Total demand function
17. 1Ifx+=5andxy=23then value of x
(@ 4 (b) 3 (0 16 (d) 8
18. 1Integration is the reverse process of
(a) Difference (b) Mixing (c) Amalgamation (d) Differentiation
19. Data processing is done by
(a) PCalone (b) Calculator alone (¢) Both PC and Calculator (d) Pendrive
20. The command Ctrl +M is applied for

(a) Saving (b) Copying (¢) Getting new slide (d) Deleting a slide

II. Very Short Answer Questions:

21. If 62 =34+ 4x what is x? 23. Find the average cost function where
Solution : TC =60 + 1x+ 154, : {RE
52 = 4+dy Solution :
62-34 = & TC =60+ 10x + 152
28 L < Formula ='%
X = _,2g_ a. : Itﬁ'ml' = EE.'_J.E_FE
A verage cost function e i

Ve X = 7

= wilill}-+If.]+l5Jt
X




2. Grvznide demand function ¢ = i 50 - 3p, derlve's

function tar MR.
Soluticn :
Crinand function 5 =150 - Jip, ME = ?
ﬂ 3w =3
dp .
Wia RN SP iy
o e B3
150-3p .
MR o 1-—
= N —E = 2 _3:.&_
150-3p
A “l_usu—am]
- B W
Ip-150+3p
- ofemey]
6150
- A%
I
= —|p-125
;[P ]
= 2[p-25]

.24, The demand functio= is given by x=20 - p — p*
where p and x are the price and the Guantity
respectivelv. Find the elasticity of demand for

p=21.f | Gont, MG P-2018]
Enlutl_nn;
'll"r"'EE
. Xap
& =1
dp
nd = E___ (-2-2p)
20-2p-p°
_ _2p(rtp)
20-2p-p°
Whenp=23
2{2.5(1+ 2.3)
M =y
20—-XH2.5)-(2.5)
B 5(3.5)
T 20-5-625
_ 115
15-6.25
_11s
W = 575
Ans. =2
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25. Supposethe pricepand quantity ¢ of a commedity
are refaied by the equation ¢ = 30 --I,y;b—;_:l'I find

(e,atp=2 (MR

Soluiion :
dq 3
(M 3 =W
- ()
g \dp
S S . —i =7
m_‘m_f;_r{ £
_Apdp®
= 30-dp-p°
a(2)+202F He B
mdics " 3p-a(2y -4 I0-E-3
]
|
~ 30-12 M 9
(i) MR=7
MR = ;—-il'. 4—2p)
e R = 4
= i - dg-pt)
- Mop-dg’—p
MRE = ﬁ
pre
= A - = MEF *
= 30 -#p—1p”
ME = 35— So_ 30
26, What is the foroeala for elisticity of supply il you
know the supply functie 5™ JBEQS
Kofotiom
Py

Elasticity of supply = g $

Ps=XP;—integration of supply function
within limited

x-}Pu —T glx)de
o

27. What are the Main menus of MS Word?
% Home menu
% Insert
%+ Page Layout

# Reference
L)

# Beview
+ View

L. Short Answer Questions:
I8, lMustrate the uses of Mathematical
Methodsm in Economics,
1. Mathematical Methods help 1o presemt the
eceonomic probliems ina more precise form,
2. Mathematical Methods help o explain economic
cOncepts.,

3. Mathematical Methods help 1o use a large
MNumber variables m economic analyses,

4. Mathematical Methods help 1o quantfy the
impact or effect of any cconomic activity
implemented by Government or anybody.

29, Solve for x quantity demanded if 16c=4 =68 +7x

Solution :
lGx—4 = 68+ Tx
lax-Tx = o68+4
G = T2
-
i g
o X = 8] -
e

1

30, A firm s the revenue l‘un:r:r.sur';* R: iy = 0034
and the cost function is = :
. Find AR, AC,

g Is the number of units produced o

MR and MC.
Solution :

60,000, where

] Rl'
Marginal Reveaue = | T,

e —

= 2 _atag 400 - 0,064
R . g0-(0nAe= '
R
AR® T g ;
vig - 08¢
R
6004 0037
AR = 600-003 :
Total-cost
Average cost (AC) output
_ 1509+ 60000
g
1504 | 60000
NG # SEEAT

AC = 150+

d
Marginal cost (MC) = & '[Cj_

d
— (150 + GO000)
(150q +

MC = 150
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31, Sotve the following lncar wqunﬂnﬂ! by nsing

Cramer's rule.

x =x tay =3
x, =X, =0
=X =y == =0

MT? R (1 +4-3)
.ttlr]—.rz=l'l'.
— XXy Ay = i
R | 1 2
11 = #ml = 0
-1 =1 =] Xy | =6 |
AX = B
i =1 1
A = 1 . =
-1 =1 1
B
A = [1 1 4
' =1 -1 =1
= 1= =1+ (=1 =1} +1(=1 +1)
= =2=240
LA = -4

32, 1f a firn faces the total cost funetion TC =5 + .2
where x is outpet, wiat is TC whee v s 107

Sossdion ¢
T .= I
= 5100
ATC = 105

- 3840 13gt + S0g + 12 derive g .
93, 1 TC = 2.5¢" - 13q be
fusction und AC function.

splution |
T by
& _ mc| [ac - i
o m Ctpu

—

& o 4R (3 —(13%2)g+ 50
iy

vc - 754 - 26 + 50|
254" - 13¢° < 50g + 12

AC =

A U,
& j{ qr

12
L AC= 2508 -13g+50+ T

34. What are the steps involved in executing
a MS Excel sheet?

i) Plan the kevstrokes needed 1o complete the tasks.

@ Click Toals.
(i Assign a Name for the Macro.

(vl Assign ashorteut key for the Macro,

(v Click Ok

(v} Perfomm the steps needed to create your report.
{vi) Click on the stop button on the Macro toolbar to
stop recording and save the Macro.

35. A Research scholar researching the market for
fresh cow milk assumes that Qr = f(Pt, Y,.AN. Pc)
where Ot is the quantity of milk demanded, Pt is
the price of fresh cow milk, Y is average household
income, A is advertising expenditure on processed
pocket milk, N is population and Pc is the price of
processed pocket milk .
{a) What does Ot = f(Pt. Y AN, Pc) mean in
woras?
(k) dentify obe independ et vaciables,
(¢} Make up 5 specil ¢ form for tois function. (Use
wowr knpwledge oF Econo mics to dedace -vhather
the coetlicients of the different independent
variables should be positive or negative.)
a) 1) O 1s the functions of PL Y, A, N, Pc.
i} Other determinants of demand are,
4 Pt-Price of fresh cow milk. Y - Average
household Income.
< A - Advertising expenditure on progessed
pockel milk,
% N - Population,
% Pc - Price of processed pocket milk,
(b) i)Y' (Average housshold Income and population)
and ‘W' are independent variables.
i) Pcis depending on P, A and N
i) 'A" is depending on ™',
(c) When price of fresh cow milk increases quantity of
milk demanded decrenses.
&  When average houschold income increases
and quantity of milk demanded is also
increases,
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56. Calculate the clasticity of demand for (he dema=

schedule by wsing differeatial calculus meth " _ 60 _10_600 o
P = 60 - 0.20 where price is 02 10 2
(i) were (i) Rs 20 (ili) R 40. g - 300
Solution : [Gove. MQP-2004; HY-201 -p o _ -0 .-l
e 2 “dr 300 D3
Elasticity of demand ) (-
- E@ d a0
@ ° pdy nd = @
= Bii-02g When P = 20
P nlg =  60-20
P . 0-021) Gdp = 4O
]
d 5 = Ao an Ay
ﬁ . w2 10 F 4
v = -0 ” ) e
L =g e =0
(i) g =0 R B g o 200 0.2
p o= 60-0.2(0)=60-0 . A
o 400 2
B Eﬁxl;-ﬂ.ﬂ-] il N 0.5
- Wohen B = 403
024 - 6040
(iip qg=20 D2 = 20
pi ol i g = E:-|c-"—'|=£=lm
p = G0-4 02 10 2
o 56 G - 108
20 — _ o SE s Wb 1 _ A
e, £ Ex[-n.z} T3 ' e = g " dy 100 02 20
|5, = 0071 el - 2
: L S W ET
(1) g = Ay ___F:___ sl . ..
p o= 60 -02(20) = s T_!"“ 200 1K)
il ' [ D s - Hi
p - =
po= 52 ol ! . _
40 o An, YWhat ave the ideas of icfor mation and
e, = —x-0i= © communication technology used in econpmics?
52 Introduction :
e, = 0.153 (i} Information and communication Technology (1CT)

37. The demsnd and supply FTunctions

P,= 1600 —x" and P, =2x* + 400 respectively. Find
the consumer's surplus and producer’s Surplus at

equilibrinm point [BEDN
Solurion =

P, = l600- e

P o= 20+400

|

1600 -5~ = 207 + 400
1600 - -2 -400 = O

7+ 1200 =0
'l‘r‘ = +1 200
500
o = )
3
r = +q'm

is the infrastructure that enables computing faster and
accurale.

(i) The following lables gives an idea of range of
technologies that {all under the category of ICT.

5.MNo | Information Technologies

1 Creation Personal
Computers, [higital
Camera, Scanner,
Smart Phone

2 Processing Calculator, PC,
Smart Phone

2 Storage CD; DVD, Pen
Drive, Microchip,
o

dq rli'sl.}'nl';vlt,-r P TV, P1'¢}je¢mr.
Smart Phone

Best of Luck
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